UGC NET 2021 English Shift 1

Topic:- English_SH1_SHAAN_NOV21A

1)

Read the following passage and answer the questions that follow:

What can be the use of a poetry that has no true subject except the poet's own selfhood? The traditional use of poetry in the Western world has been
instruction through delight, where teaching has meant the common truths or common deceptions of societal tradition, and where esthetic pleasure has

meant a fulfillment of expectations founded upon past joys of the same design.

But an individual psyche has its own accidents, which it needs to call truths, and its own necessity for self-recognition, which requires the pleasures of
originality, even if those pleasures depend upon a kind of lying against time, and against the achievements of the past. The use of such poetry demands to

be seen in a deidealized way, if it is to be seen more truly.

- Harold Bloom, “The Use of Poetry”

In the context of the above which is closest to being true?
[Question ID = 10819][Question Description = S3_qSNz_PG_ENG_Q01]

1. There can be no use of poetry.

[Option ID = 13273]
2. Poetry can have no true subject.

[Option ID = 13274]
3. Man may be the true subject of poetry.

[Option ID = 13275]
4. The poet himself may be the subject.

[Option ID = 13276]
Correct Answer :-
® There can be no use of poetry.

[Option ID = 13273]

2)

Read the following passage and answer the questions that follow:

What can be the use of a poetry that has no true subject except the poet's own selfhood? The traditional use of poetry in
the Western world has been instruction through delight, where teaching has meant the common truths or common
deceptions of societal tradition, and where esthetic pleasure has meant a fulfillment of expectations founded upon past
joys of the same design.

But an individual psyche has its own accidents, which it needs to call truths, and its own necessity for self-recognition,
which requires the pleasures of originality, even if those pleasures depend upon a kind of lying against time, and against the
achievements of the past. The use of such poetry demands to be seen in a deidealized way, if it is to be seen more truly.

- Harold Bloom, “The Use of Poetry”

What is meant by ‘traditional use of poetry’?
[Question ID = 10820][Question Description = S3_qSNz_PG_ENG_Q02]

1. Promoting serious ideas

[Option ID = 13277]
2. Promoting doubtful pleasure

[Option ID = 13278]
3. Promoting joyous expectations

[Option ID = 13279]
4. Promoting social honesty in life

[Option ID = 13280]
Correct Answer :-
® Promoting serious ideas

[Option ID = 13277]



3)

Read the following passage and answer the questions that follow:

What can be the use of a poetry that has no true subject except the poet's own selfhood? The traditional use of poetry in
the Western world has been instruction through delight, where teaching has meant the common truths or common
deceptions of societal tradition, and where esthetic pleasure has meant a fulfillment of expectations founded upon past
joys of the same design.

But an individual psyche has its own accidents, which it needs to call truths, and its own necessity for self-recognition,
which requires the pleasures of originality, even if those pleasures depend upon a kind of lying against time, and against the
achievements of the past. The use of such poetry demands to be seen in a deidealized way, if it is to be seen more truly.

- Harold Bloom, “The Use of Poetry”

If ‘selfhood’ of a poet is the subject of poetry, then ‘originality’ shall spring from:

[Question ID = 10821][Question Description = S3_qSNz_PG_ENG_QO03]
1. some truth of untruths.

[Option ID = 13281]
2. truth of self-recognition.

[Option ID = 13282]
3. creating ideal pleasures.

[Option ID = 13283]
4. re-living the past joys.

[Option ID = 13284]

Correct Answer :-
e some truth of untruths.

[Option ID = 13281]

Topic:- English_SH1_SHAAN_NOV21B

1)

Read the following poem and answer the questions that follow:

No worst, there is none.

No worst, there is none. Pitched past pitch of grief,
More pangs will, schooled at forepangs, wilder wring.
Comforter, where, where is your comforting?

Mary, mother of us, where is your relief?

My cries heave, herds-long; huddle in a main, a chief
Woe, world-sorrow; on an age-old anvil wince and sing—
Then lull, then leave off. Fury had shrieked 'No lingering!
Let me be fell: force | must be brief.™

O the mind, mind has mountains; cliffs of fall

Frightful, sheer, no-man-fathomed. Hold them cheap
May who ne'er hung there. Nor does long our small
Durance deal with that steep or deep. Here! creep,
Wretch, under a comfort serves in a whirlwind: all

Life death does end and each day dies with sleep.

- Gerard Manley Hopkins

Which of the following best describes the meaning of the title of the poem, ‘No worst, there is none.’?

[Question ID = 10822][Question Description = S3_qSNz_PG_ENG_Q04]

1. It is not worst because there is nothing.



[Option ID = 13285]
2. Nothing can be so much bad as this.

[Option ID = 13286]
3. No it is worst as nothing is there.

[Option ID = 13287]
4. It is very bad as no one is there.

[Option ID = 13288]

Correct Answer :-

® |t is not worst because there is nothing.

[Option ID = 13285]

2)

Read the following poem and answer the questions that follow:

No worst, there is none.

No worst, there is none. Pitched past pitch of grief,

More pangs will, schooled at forepangs, wilder wring.
Comforter, where, where is your comforting?

Mary, mother of us, where is your relief?

My cries heave, herds-long; huddle in a main, a chief
Woe, world-sorrow; on an age-old anvil wince and sing—
Then lull, then leave off. Fury had shrieked 'No lingering!
Let me be fell: force | must be brief.™

O the mind, mind has mountains; cliffs of fall
Frightful, sheer, no-man-fathomed. Hold them cheap
May who ne'er hung there. Nor does long our small
Durance deal with that steep or deep. Here! creep,
Wretch, under a comfort serves in a whirlwind: all

Life death does end and each day dies with sleep.

- Gerard Manley Hopkins

Beyond the intensity of known grief, there can be:

[Question ID = 10823][Question Description = S3_qSNz_PG_ENG_QO05]
1. no grief than being experienced.

[Option ID = 13289]
2. only a new pain more painful.

[Option ID = 13290]
3. only the twisted known pains.

[Option ID = 13291]
4. the griefs beyond limits of pain.

[Option ID = 13292]

Correct Answer :-
e no grief than being experienced.

[Option ID = 13289]

3)

Read the following poem and answer the questions that follow:

No worst, there is none.
No worst, there is none. Pitched past pitch of grief,
More pangs will, schooled at forepangs, wilder wring.

Comforter, where, where is your comforting?



Mary, mother of us, where is your relief?

My cries heave, herds-long; huddle in a main, a chief
Woe, world-sorrow; on an age-old anvil wince and sing—
Then lull, then leave off. Fury had shrieked 'No lingering!
Let me be fell: force | must be brief.™

O the mind, mind has mountains; cliffs of fall
Frightful, sheer, no-man-fathomed. Hold them cheap
May who ne'er hung there. Nor does long our small
Durance deal with that steep or deep. Here! creep,
Wretch, under a comfort serves in a whirlwind: all
Life death does end and each day dies with sleep.

- Gerard Manley Hopkins

Which two of the following are true?

A. Not all know the intensity or depth of suffering.

B. Death does not put an end to our sufferings.

C. Suffering is seen as winds that hinder comfort.

D. Suffering’s intensity or depth is in the mind.

Choose the correct answer from the options given below:

[Question ID = 10824][Question Description = S3_qSNz_PG_ENG_Q06]
1. Aand B only

[Option ID = 13293]
2. Cand D only

[Option ID = 13294]
3. Aand D only

[Option ID = 13295]
4. Band D only

[Option ID = 13296]
Correct Answer :-
e AandB only
[Option ID = 13293]

Topic:- English_SH1_SHAAN_NOV21C

1) Read the following extract and answer the questions that follow:

‘Justice’ was done, and the President of the Immortals , in Aeschylean phrase, had ended his
sport with Tess. And the D’Urberville knights and dames slept on in their tombs unknowing.
The two speechless gazers bent themselves down to the earth, as if in prayer, and remained
thus a long time, absolutely motionless; the flag continued to wave silently. As soon as they
had enough strength they arose, joined hands again, and went on.

--Thomas Hardy, Tess of the D’Urbervilles

How did the ‘sport with Tess’ end?

[Question ID = 10825][Question Description = S3_qSNz_PG_ENG_QO07]
1. She was hanged.

[Option ID = 13297]
2. She was expelled from Wintoncester.

[Option ID = 13298]
3. The tormentor married her.

[Option ID = 13299]
4. She died an untimely death.



[Option ID = 13300]

Correct Answer :-

® She was hanged.

[Option ID = 13297]

2) Read the following extract and answer the questions that follow:

‘Justice’ was done, and the President of the Immortals , in Aeschylean phrase, had ended his
sport with Tess. And the D’Urberville knights and dames slept on in their tombs unknowing.
The two speechless gazers bent themselves down to the earth, as if in prayer, and remained
thus a long time, absolutely motionless; the flag continued to wave silently. As soon as they
had enough strength they arose, joined hands again, and went on.

--Thomas Hardy, Tess of the D’Urbervilles

Who are the ‘two speechless gazers’?

[Question ID = 10826][Question Description = S3_qSNz_PG_ENG_QO08]

1. Reverend James Clare and Mrs. Brooks

[Option ID = 13301]
2. ‘Liza-Lu and Angel Clare

[Option ID = 13302]
3. Tess’s two parents

[Option ID = 13303]
4. Parson Tringham and Mrs. d’Urberville

[Option ID = 13304]

Correct Answer :-

® Reverend James Clare and Mrs. Brooks

[Option ID = 13301]

Topic:- English_SH1_SHAAN_NOV21D

1)

Read the following extract and answer the questions that follow:

The solemn temples, the great globe itself,
Yea, all which it inherit, shall dissolve

And, like this insubstantial pageant faded,
Leave not a rack behind. We are such stuff
As dreams are made on, and our little life
Is rounded with a sleep.

-- Shakesg e, The Te

P

‘[T]his insubstantial pageant’ refers to:

[Question ID = 10827][Question Description = S3_qSNz_PG_ENG_Q09]
1. the shutdown of Globe theatre.

[Option ID = 13305]
2. anon-real performance.

[Option ID = 13306]
3. the destroyed mother earth.

[Option ID = 13307]
4. enactment with support structure.

[Option ID = 13308]
Correct Answer :-
® the shutdown of Globe theatre.

[Option ID = 13305]



2)

Read the following extract and answer the questions that follow:

The solemn temples, the great globe itself,
Yea, all which it inherit, shall dissolve

And, like this insubstantial pageant faded,
Leave not a rack behind. We are such stuff
As dreams are made on, and our little life
Is rounded with a sleep.

-- Shakespeare, The Tempest

‘We are such stuff as dreams are made on’ means:

[Question ID = 10828][Question Description = S3_qSNz_PG_ENG_Q10]

1. Human life is full of imaginary colours.

[Option ID = 13309]
2. Our life is a text of what happened.

[Option ID = 13310]
3. We are a bundle of past reality.

[Option ID = 13311]
4. There is no substance to human life.

[Option ID = 13312]
Correct Answer :-
® Human life is full of imaginary colours.

[Option ID = 13309]

Topic:- English_SH1_SHAAN_NOV21E

1 ) In “An Apology for Poetry” Sidney discusses the didactic function of poetry by comparing it to philosophy and:
[Question ID = 10829][Question Description = S3_qSNz_PG_ENG_Q11]
1. religion.

[Option ID = 13313]
2. aesthetics.

[Option ID = 13314]
3. history.

[Option ID = 13315]
4. ethics.

[Option ID = 13316]
Correct Answer :-
e religion.

[Option ID = 13313]

2) According to Longinus which two of the following qualities apply to ‘great poetry’?
A. It must be the work of genius, an inspired person.

B. It must cause a feeling of melancholy in the reader.
C. It must employ devices of rhetoric.

D. It must please selectively and on special occasions.
Choose the correct answer from the options given below:

[Question ID = 10830][Question Description = S3_qSNz_PG_ENG_Q12]
1. Aand B only [Option ID = 13317]
2. Aand Conly [Option ID = 13318]
3. Band D only [Option ID = 13319]
4. Cand D only [Option ID = 13320]

Correct Answer :-
e Aand B only [Option ID = 13317]

3) In “The Function of Criticism” T.S.Eliot attacked J. Middleton Murry and similar critics for being devotees of what he



called:

[Question ID = 10831][Question Description = S3_qSNz_PG_ENG_Q13]
1. “the Inner Voice”.

[Option ID = 13321]

2. “the Romantic Impulse”.
[Option ID = 13322]

3. “the Symbol Hunt”.

[Option ID = 13323]
4. “the Muse’s Mystery”.

[Option ID = 13324]

Correct Answer :-
® “the Inner Voice”.
[Option ID = 13321]
4) Who among the following compared ‘the mind in creation’ to ‘a fading coal’?[Question ID = 10832][Question Description
= S3_qSNz_PG_ENG_Q14]
. Wordsworth [Option ID = 13325]
. Coleridge [Option ID = 13326]
. Shelley [Option ID = 13327]
. Keats [Option ID = 13328]

A W N -

Correct Answer :-
o Wordsworth [Option ID = 13325]

5) Who among the following considered paraphrase as ‘a heresy’?[Question ID = 10833][Question Description =
S3_qSNz_PG_ENG_Q15]

1. Percy Lubbock [Option ID = 13329]

2. Edmund Wilson [Option ID = 13330]

3. l.A.Richards [Option ID = 13331]

4. Cleanth Brooks [Option ID = 13332]

Correct Answer :-
e Percy Lubbock [Option ID = 13329]

6) Empiricist linguistics is concerned with :

[Question ID = 10834][Question Description = S3_qSNz_PG_ENG_Q16]
1. investigation of the human mind.

[Option ID = 13333]
2. directly observable sense-data.

[Option ID = 13334]
3. reason as a determinant of enquiry.

[Option ID = 13335]
4. innate language knowledge.

[Option ID = 13336]
Correct Answer :-
e investigation of the human mind.

[Option ID = 13333]

7) In Noam Chomsky’s definition of grammar which two features are drawn from mathematics ?
A. complexity

B. abstraction

C. transformation

D. generation

Choose the correct answer from the options given below:

[Question ID = 10835][Question Description = S3_qSNz_PG_ENG_Q17]
1. Aand B only

[Option ID = 13337]
2. Aand Conly

[Option ID = 13338]
3. BandD only

[Option ID = 13339]
4. Cand D only



[Option ID = 13340]
Correct Answer :-
e AandB only
[Option ID = 13337]

8) ‘Potato’ is a sixteenth-century borrowing into English from:
[Question ID = 10836][Question Description = S3_qSNz_PG_ENG_Q18]
1. Spanish.

[Option ID = 13341]
2. French.

[Option ID = 13342]
3. German.

[Option ID = 13343]
4. Norwegian.

[Option ID = 13344]
Correct Answer :-
e Spanish.

[Option ID = 13341]

9) Who among the following represents the global spread of English diagrammatically as three concentric circles?
[Question ID = 10837][Question Description = S3_qSNz_PG_ENG_Q19]
1. David Crystal

[Option ID = 13345]
2. Jenny Cheshire

[Option ID = 13346]
3. Braj B. Kachru

[Option ID = 13347]
4. Salikoko Mufwene

[Option ID = 13348]
Correct Answer :-
e David Crystal
[Option ID = 13345]

10) Who among the following is the founder of the Survey of English Usage (SEU)?
[Question ID = 10838][Question Description = S3_qSNz_PG_ENG_Q20]
1. Randolph Quirk

[Option ID = 13349]
2. Henry Watson Fowler

[Option ID = 13350]
3. Michael Swan

[Option ID = 13351]
4. Bryan Garner

[Option ID = 13352]
Correct Answer :-
e Randolph Quirk
[Option ID = 13349]

11) Who is the author of the short story, “Beethoven Was One-Sixteenth Black”?

[Question ID = 10839][Question Description = S3_qSNz_PG_ENG_Q21]
1. J. M. Coetzee

[Option ID = 13353]
2. Nadine Gordimer

[Option ID = 13354]
3. Andre Brink

[Option ID = 13355]
4. Bessie Head

[Option ID = 13356]

Correct Answer :-
e J. M. Coetzee



[Option ID = 13353]

12) Arrange the following texts in the chronological order of publication.
A. This Bridge Called My Back

B. Sexual Politics

C. Gender Trouble

D. The Feminine Mystique

Choose the correct answer from the options given below

[Question ID = 10840][Question Description = S3_qSNz_PG_ENG_Q22]
1. B,D, A, C
[Option ID = 13357]
2. D,B, A C
[Option ID = 13358]
3. D,A,B, C

[Option ID = 13359]
4. B,D,C, A

[Option ID = 13360]

Correct Answer :-
e B,D,AC

[Option ID = 13357]

13) Who is the author of the essay “Lear, Tolstoy and the Fool”?

[Question ID = 10841][Question Description = S3_qSNz_PG_ENG_Q23]
. Aldous Huxley [Option ID = 13361]

. George Orwell [Option ID = 13362]

. Virginia Woolf [Option ID = 13363]

. Somerset Maugham [Option ID = 13364]

A w N =

Correct Answer :-

e Aldous Huxley [Option ID = 13361]

14) Which of the following poems by Robert Browning contains the lines, “Our interest’s on the dangerous edge of things. /
The honest thief, the tender murderer, / The superstitious atheist. . .”?

[Question ID = 10842][Question Description = S3_qSNz_PG_ENG_Q24]
1. “A Death in the Desert”
[Option ID = 13365]
2. “Count Gismond”
[Option ID = 13366]
3. “Bishop Blougram’s Apology”

[Option ID = 13367]
4. “Love Among the Ruins”

[Option ID = 13368]

Correct Answer :-
® “A Death in the Desert”
[Option ID = 13365]

15) Who among the following edited The Cornhill Magazine?

[Question ID = 10843][Question Description = S3_qSNz_PG_ENG_Q25]
. Charles Dickens [Option ID = 13369]

. Lewis Carroll [Option ID = 13370]

. William Makepeace Thackeray [Option ID = 13371]

. Anthony Trollope [Option ID = 13372]

A W N -

Correct Answer :-
e Charles Dickens [Option ID = 13369]

16) Which of the following novels has its epigraph taken from the Katha Upanishad?

[Question ID = 10844][Question Description = S3_qSNz_PG_ENG_Q26]
1. The Island of Doctor Moreau by H. G. Wells

[Option ID = 13373]



2. The Razor’s Edge by Somerset Maugham

[Option ID = 13374]
3. Point Counter Point by Aldous Huxley

[Option ID = 13375]
4. A Room with a View by E. M. Forster

[Option ID = 13376]

Correct Answer :-

e The Island of Doctor Moreau by H. G. Wells
[Option ID = 13373]

17) Who is the author of the essay, “What Isn’t Literature?”?

[Question ID = 10845][Question Description = S3_qSNz_PG_ENG_Q27]
1. E. D. Hirsch Jr.

[Option ID = 13377]
2. Paul Ricoeur

[Option ID = 13378]
3. Hans-Georg Gadamer

[Option ID = 13379]
4. Terry Eagleton

[Option ID = 13380]
Correct Answer :-
e E. D. Hirsch Jr.

[Option ID = 13377]

18) Erich Auerbach’s Mimesis (1946) ends with a chapter on:

[Question ID = 10846][Question Description = S3_qSNz_PG_ENG_Q28]
1. Virginia Woolf’s To the Lighthouse.

[Option ID = 13381]
2. Wyndham Lewis’s The Apes of God.

[Option ID = 13382]
3. James Joyce’s Ulysses.

[Option ID = 13383]
4. George Eliot’s Middlemarch.

[Option ID = 13384]

Correct Answer :-

e Virginia Woolf’s To the Lighthouse.
[Option ID = 13381]

19) Which of the following clusters is associated with what Julia Kristeva terms the ‘semiotic’?

[Question ID = 10847][Question Description = S3_qSNz_PG_ENG_Q29]
1. Authority, order and patriarchy

[Option ID = 13385]
2. Displacement, slippage and condensation

[Option ID = 13386]
3. Repression, control and normalcy

[Option ID = 13387]
4. Logic, reason and power

[Option ID = 13388]

Correct Answer :-
e Authority, order and patriarchy

[Option ID = 13385]

20) Which two works in the following list are written by Aphra Behn?
A. Rover

B. Oroonoko

C. Soldier’s Fortune

D. The Princess of Cleve

Choose the correct answer from the options given below:



[Question ID = 10848][Question Description = S3_qSNz_PG_ENG_Q30]
1. Aand B only

[Option ID = 13389]
2. BandConly

[Option ID = 13390]
3. BandDonly

[Option ID = 13391]
4. Aand Conly

[Option ID = 13392]
Correct Answer :-
e AandBonly
[Option ID = 13389]

21) Which two of the following are works by Gustave Flaubert?
A. The Temptation of Saint Anthony

B. Old Goriot

C. Therese Raquin

D. Sentimental Education

Choose the correct answer from the options given below:

[Question ID = 10849][Question Description = S3_qSNz_PG_ENG_Q31]
1. Aand Conly

[Option ID = 13393]
2. BandConly

[Option ID = 13394]
3. Aand D only

[Option ID = 13395]
4. Band D only

[Option ID = 13396]
Correct Answer :-
e AandConly
[Option ID = 13393]

22) Which two of the following conform to liberal humanist thought?

A. Literature transcends the limits of the age of its origin and so is timeless.

B. Literature is untouched by the essential human nature which is unchanging.
C. Literature is devoid of any purpose to enhance life or promote human values.
D. Identity is a unique essence unaffected by environment and society.

Choose the correct answer from the options given below:

[Question ID = 10850][Question Description = S3_qSNz_PG_ENG_Q32]
1. Aand C only

[Option ID = 13397]
2. BandConly

[Option ID = 13398]
3. Aand D only

[Option ID = 13399]
4. Band D only

[Option ID = 13400]

Correct Answer :-
e AandConly

[Option ID = 13397]

23) Which two of the following conform to Northrop Frye’s typology of literature?
A. Mythos of spring: Comedy
B. Mythos of summer: Satire

C. Mythos of autumn: Tragedy



D. Mythos of winter: Romance
Choose the correct answer from the options given below:

[Question ID = 10851][Question Description = S3_qSNz_PG_ENG_Q33]
1. Aand B only

[Option ID = 13401]
2. BandD only

[Option ID = 13402]
3. Aand Conly

[Option ID = 13403]
4. Band D only

[Option ID = 13404]
Correct Answer :-
e AandB only
[Option ID = 13401]

24) Which two of the following writers does A. D. Hope address through his poetic responses in A Book of Answers?
A. Tolstoy

B. Dostoevsky

C. Mallarme

D. Goethe

Choose the correct answer from the options given below:

[Question ID = 10852][Question Description = S3_qSNz_PG_ENG_Q34]
1. Aand D only

[Option ID = 13405]
2. BandConly

[Option ID = 13406]
3. BandD only

[Option ID = 13407]
4. Aand Conly

[Option ID = 13408]
Correct Answer :-
e Aand D only
[Option ID = 13405]

25) Which two of the following are true according to the documentation style prescribed by the eighth edition of the MLA
Handbook?

A. If the title page of a book contains an imprint as well as the publisher’s name, omit the imprint and use the publisher’s
name.

B. While giving a URL copy it from the Web browser but omit http:// or https://.

C. If a quotation extends to more than five lines set it off from the text as block indented an inch from the left margin.
D. Long titles should be abbreviated using the first letter of key words typed in upper case without intervening space.
Choose the correct answer from the options given below:

[Question ID = 10853][Question Description = S3_qSNz_PG_ENG_Q35]
1. Aand B only

[Option ID = 13409]
2. Aand Conly

[Option ID = 13410]
3. BandConly

[Option ID = 13411]
4. Band D only

[Option ID = 13412]
Correct Answer :-
e AandB only
[Option ID = 13409]

26) Which two of the following are highlighted in relation to specific historical moments by Stephen Greenblatt?



A. crisis of meaning

B. circulation of meaning

C. production of meaning

D. deferral of meaning

Choose the correct answer from the options given below:

[Question ID = 10854][Question Description = S3_qSNz_PG_ENG_Q36]
1. Aand B only

[Option ID = 13413]
2. BandConly

[Option ID = 13414]
3. Cand D only

[Option ID = 13415]
4. Band D only

[Option ID = 13416]
Correct Answer :-
e AandB only
[Option ID = 13413]

27) Who among the following belong to the Chicago School of critics?
A. R. S. Crane

B. E. M. W. Tillyard

C. Elder Olson

D. Allen Tate

Choose the correct answer from the options given below:

[Question ID = 10855][Question Description = S3_qSNz_PG_ENG_Q37]
1. Aand Conly

[Option ID = 13417]
2. Aand D only

[Option ID = 13418]
3. BandConly

[Option ID = 13419]
4. Band D only

[Option ID = 13420]
Correct Answer :-
e AandConly
[Option ID = 13417]

28) Which of the following poems contains John Donne’s famous conceit bringing a parallel between lovers and the hands
of a compass?

[Question ID = 10856][Question Description = S3_qSNz_PG_ENG_Q38]
1. “Negative Love”

[Option ID = 13421]
2. “Lovers Infinitenesse”

[Option ID = 13422]
3. “A Valediction: Forbidding Mourning”

[Option ID = 13423]
4. “A Valediction: Of Weeping”

[Option ID = 13424]

Correct Answer :-
e “Negative Love”

[Option ID = 13421]

29) Arrange the following essays in the chronological order of publication.
A. T. S. Eliot, “The Function of Criticism”
B. Edgar Allan Poe, “The Philosophy of Composition”

C. Henry James, “The Art of Fiction”



D. Virginia Woolf, “Modern Fiction”
Choose the correct answer from the options given below

[Question ID = 10857][Question Description = S3_qSNz_PG_ENG_Q39]
C, B, A, D [Option ID = 13425]
C, B, D, A [Option ID = 13426]
B, C, D, A [Option ID = 13427]
B, C, A, D [Option ID = 13428]

A W N -

Correct Answer :-
e C, B, A, D[Option ID = 13425]

30) Arrange the following journals in the chronological order in which they started publication.
A. The Tatler

B. The Examiner

C. The Review

D. The Spectator

Choose the correct answer from the options given below

[Question ID = 10858][Question Description = S3_qSNz_PG_ENG_Q40]
. A, D, C, B [Option ID = 13429]
. B, A, D, C [Option ID = 13430]
. C, A, B, D [Option ID = 13431]
. C, A, D, B [Option ID = 13432]

A W N -

Correct Answer :-
e A, D, C, B[Option ID = 13429]

31) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Postmodern narratives focus on the indeterminate and unstable nature of textuality and subjectivity.
Reason R : Postmodern narrative acts regard narratives and characters as tentative representations of writing and
identity.

In light of the above statements, choose the correct answer from the options given below

[Question ID = 10859][Question Description = S3_qSNz_PG_ENG_Q41]

. Both A and R are true and R is the correct explanation of A [Option ID = 13433]

. Both A and R are true but R is NOT the correct explanation of A [Option ID = 13434]

. Ais true but R is false [Option ID = 13435]
. Ais false but R is true [Option ID = 13436]

AW N =

Correct Answer :-
e Both A and R are true and R is the correct explanation of A [Option ID = 13433]

32) Given below are two statements

Statement I: In Waiting for Godot, it is Vladimir who questions the Boy who comes from Godot towards the end of the two
Acts.

Statement Il: In Waiting for Godot, it is Estragon who says, “Nothing happens, nobody comes, nobody goes, it’s awful.”
In light of the above statements, choose the correct answer from the options given below

[Question ID = 10860][Question Description = S3_qSNz_PG_ENG_Q42]
Both Statement | and Statement Il are true [Option ID = 13437]
Both Statement | and Statement Il are false [Option ID = 13438]
Statement | is true but Statement Il is false [Option ID = 13439]
Statement | is false but Statement Il is true [Option ID = 13440]
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Correct Answer :-
® Both Statement | and Statement Il are true [Option ID = 13437]

33) Given below are two statements

Statement I: New Historicism stipulates that teleological connotations of history have to be eschewed.
Statement Il: New Historicism neither denies nor accepts totalizing explanations of historical events.
In light of the above statements, choose the correct answer from the options given below

[Question ID = 10861][Question Description = S3_qSNz_PG_ENG_Q43]
Both Statement | and Statement Il are true [Option ID = 13441]
Both Statement | and Statement Il are false [Option ID = 13442]
Statement | is true but Statement Il is false [Option ID = 13443]
Statement | is false but Statement Il is true [Option ID = 13444]

AW N =



Correct Answer :-
e Both Statement | and Statement Il are true [Option ID = 13441]

34) What was poor Yorick in Hamlet?
[Question ID = 10862][Question Description = S3_qSNz_PG_ENG_Q44]
1. Jester

[Option ID = 13445]
2. Actor

[Option ID = 13446]
3. Soldier

[Option ID = 13447]
4. Gravedigger

[Option ID = 13448]
Correct Answer :-
e Jester

[Option ID = 13445]

35) Which of the following words refers to a sound that is associated with a particular meaning?
[Question ID = 10863][Question Description = S3_qSNz_PG_ENG_Q45]
1. phoneme

[Option ID = 13449]
2. phonic substance

[Option ID = 13450]
3. phonestheme

[Option ID = 13451]
4. phonemoid

[Option ID = 13452]
Correct Answer :-
e phoneme

[Option ID = 13449]

36) Who among the following Dickens characters appears as a ghost?
[Question ID = 10864][Question Description = S3_qSNz_PG_ENG_Q46]
1. Daniel Quilp

[Option ID = 13453]
2. Dora Spenlow

[Option ID = 13454]
3. Esther Summerson

[Option ID = 13455]
4. Jacob Marley

[Option ID = 13456]
Correct Answer :-
e Daniel Quilp
[Option ID = 13453]

37) Virginia Woolf’s Orlando opens in 1588 and Orlando, a sixteen-year-old boy, writes a poem called:
[Question ID = 10865][Question Description = S3_qSNz_PG_ENG_Q47]
1. “The Evergreen Tree”.

[Option ID = 13457]
2. “The Poison Tree”.

[Option ID = 13458]
3. “The Oak Tree”.

[Option ID = 13459]
4. “The Magic Tree”.

[Option ID = 13460]

Correct Answer :-

”»

e “The Evergreen Tree”.

[Option ID = 13457]



38) What function of English is exemplified by the use of English in India as a “link language” along with a first
language by stable bilinguals in well-defined social contexts?

[Question ID = 10866][Question Description = S3_qSNz_PG_ENG_Q48]
1. complementary [Option ID = 13461]

2. supplementary [Option ID = 13462]

3. auxiliary [Option ID = 13463]

4. equative [Option ID = 13464]

Correct Answer :-

e complementary [Option ID = 13461]

39) Who among the following is said to have believed that the Persian Gulf War (1990-91) never happened?
[Question ID = 10867][Question Description = S3_qSNz_PG_ENG_Q49]
. Zygmunt Bauman

[Option ID = 13465]
2. Jean Baudrillard

[Option ID = 13466]
3. Jacques Derrida

[Option ID = 13467]
4. Jurgen Habermas

[Option ID = 13468]

Correct Answer :-
e Zygmunt Bauman

[Option ID = 13465]

40) What 19th-century philosophical term of Russian origin did Friedrich Nietzsche use to describe the disintegration of
traditional morality in western society?

[Question ID = 10868][Question Description = S3_qSNz_PG_ENG_Q50]
1. absolutism

[Option ID = 13469]
2. cynicism

[Option ID = 13470]
3. nihilism

[Option ID = 13471]
4. anarchism

[Option ID = 13472]

Correct Answer :-
® absolutism

[Option ID = 13469]

41) Which of the following statements is true of the working group set up by the University Grants Commission in 1978 to
study the medium of instruction in higher education?

[Question ID = 10869][Question Description = S3_qSNz_PG_ENG_Q51]
1. It recommended a quicker switchover of the medium of instruction from English to Indian languages.

[Option ID = 13473]
2. It observed that English need not be displaced as the medium of instruction although regional languages were quite ready to take over its functions.

[Option ID = 13474]
3. It argued that English as a highly developed language was best suited for India’s industrial and scientific progress.

[Option ID = 13475]
4. It asserted that English had the potential to further polarize an already-divided nation along socio-economic and intellectual fault lines.

[Option ID = 13476]
Correct Answer :-
e |t recommended a quicker switchover of the medium of instruction from English to Indian languages.

[Option ID = 13473]
42) In comparative philology and sometimes in modern phonology, what is the term used to refer to the deletion of a vowel
within a word?

[Question ID = 10870][Question Description = S3_qSNz_PG_ENG_Q52]
1. Aphaeresis



[Option ID = 13477]
2. Equi-deletion

[Option ID = 13478]
3. Paradigm

[Option ID = 13479]
4. Syncope

[Option ID = 13480]

Correct Answer :-
® Aphaeresis

[Option ID = 13477]

43) Which of the following statements best describes Terry Eagleton’s views on literature?

[Question ID = 10871][Question Description = S3_qSNz_PG_ENG_Q53]
1. It is involved in the reproduction of the dominant social order.

[Option ID = 13481]
2. lIts raison d’étre is to reflect social reality directly.

[Option ID = 13482]
3. Its primary purpose is to produce beauty and pleasure.

[Option ID = 13483]
4. It is closely allied to religion in its significance and seriousness.

[Option ID = 13484]

Correct Answer :-
e |t is involved in the reproduction of the dominant social order.

[Option ID = 13481]

44) Which of the following are true of ‘performance’, as used in linguistic theory?

It is analogous to the Saussurean concept of langue.

It refers to the specific utterances of individual native speakers in actual situations.

It is an innate grammar that suggests humans’ universal ability to use language.

It includes hesitations and unfinished structures arising out of psychological difficulties acting upon the speaker.

Snwm>

Choose the correct answer from the options given below:

[Question ID = 10872][Question Description = S3_qSNz_PG_ENG_Q54]
1. Aand B only

[Option ID = 13485]
2. Band Conly

[Option ID = 13486]
3. Aand Conly

[Option ID = 13487]
4. Band D only

[Option ID = 13488]
Correct Answer :-
e AandBonly

[Option ID = 13485]

45) Which among the following are the works of George Gissing?
A. New Grub Street

B. Agnes Grey

C. The Odd Women

D. Mary Barton

Choose the correct answer from the options given below:

[Question ID = 10873][Question Description = S3_qSNz_PG_ENG_Q55]
1. Aand Conly

[Option ID = 13489]
2. Band D only

[Option ID = 13490]



3. Aand B only

[Option ID = 13491]
4, Cand D only

[Option ID = 13492]
Correct Answer :-
e AandConly

[Option ID = 13489]

46) Which of the following are novels by lan McEwan?
A. Atonement

B. The Man with Two Left Feet

C. The Child in Time

D. The Rachel Papers

Choose the correct answer from the options given below:

[Question ID = 10874][Question Description = S3_qSNz_PG_ENG_Q56]
1. A and C only [Option ID = 13493]
2. B and D only [Option ID = 13494]
3. Cand D only [Option ID = 13495]
4. D and A only [Option ID = 13496]

Correct Answer :-

e A and C only [Option ID = 13493]

47) Which of the following are poems by Nissim Ezekiel that make fun of Indians’ use of English?
A. “Goodbye Party for Miss Pushpa T.S.”

B. “Philosophy”

C. “Very Indian Poem in Indian English”

D. “Jewish Wedding in Bombay”

E. “Poet, Lover, Birdwatcher”

Choose the correct answer from the options given below:

[Question ID = 10875][Question Description = S3_qSNz_PG_ENG_Q57]
1. Aand Conly

[Option ID = 13497]
2. Band D only

[Option ID = 13498]
3. A,Band Donly

[Option ID = 13499]
4. A,Cand E only

[Option ID = 13500]
Correct Answer :-
e AandConly

[Option ID = 13497]

48) Match List | with List Il

List | List Il

(Author) (Text)

A. Sean O’Casey I. ’'m Talking About Jerusalem

B. Dylan Thomas Il. The Winslow Boy

C. Terence Rattigan Ill. Juno and the Paycock

D. Arnold Wesker IV. In the Shadow of the Glen



E. J.M. Synge V. Under Milk Wood

Choose the correct answer from the options given below:

[Question ID = 10876][Question Description = S3_qSNz_PG_ENG_Q58]
1. A-ll, B-1, C-lll, D-V, E-IV

[Option ID = 13501]
2. A-V, B-1V, C-ll, D-1, E-llI

[Option ID = 13502]
3. A-lll, B-V, C-Il, D-I, E-IV

[Option ID = 13503]
4. A-1V, B-Il, C-lll, D-V, E-I

[Option ID = 13504]
Correct Answer :-
e A-ll, B-l, C-lll, D-V, E-IV

[Option ID = 13501]

49) Match List | with List Il

List | List Il

(First line) (Poet)

A. “Courage!” he said, and pointed toward the land...|l. G.M.Hopkins

B. | am poor brother Lippo, by your leave! Il. Alfred Tennyson
C. | caught this morning morning’s minion... lll. D.G. Rossetti

D. Look in my face; my name is Might-have-been... |[IV. Matthew Arnold
E. The sea is calm tonight... V. Robert Browning|

Choose the correct answer from the options given below:

[Question ID = 10877][Question Description = S3_qSNz_PG_ENG_Q59]
1. A-ll, B-lll, C-I, D-V, E-IV

[Option ID = 13505]
2. A-lV, B-V, C-l, D-III, E-lI

[Option ID = 13506]
3. A-lll, B-1V, C-V, D-I, E-lI

[Option ID = 13507]
4. A-ll, B-V, C-I, D-lll, E-IV

[Option ID = 13508]
Correct Answer :-
e A-ll, B-lll, C-I, D-V, E-IV

[Option ID = 13505]

50) Match List | with List Il

List | List Il

(Character) (Novel)

A. Winston Smith I. Sons and Lovers

B. Paul Morel Il. Ulysses

C. ‘whiskey priest’ lll. Nineteen Eighty-four

D. Leopold Bloom IV. Decline and Fall

E. Paul Pennyfeather V. The Power and the Glory

Choose the correct answer from the options given below:

[Question ID = 10878][Question Description = S3_qSNz_PG_ENG_Q60]



1. A-lll, B-1, C-V, D-Il, E-IV

[Option ID = 13509]
2. A-l, B-V, C-ll, D-llI, E-IV

[Option ID = 13510]
3. A-lV, B-lll, C-V, D-II, E-I

[Option ID = 13511]
4. A-V, B-l, C-1V, D-II, E-llI

[Option ID = 13512]
Correct Answer :-
e A-lll, B-1, C-V, D-ll, E-IV

[Option ID = 13509]

51) Arrange the following language areas of the human brain in the order in which they involve in hearing, understanding
and saying a word:

A. arcuate fasciculus

B. anterior speech cortex

C. motor cortex

D. posterior speech cortex

Choose the correct answer from the options given below:

[Question ID = 10879][Question Description = S3_qSNz_PG_ENG_Qé61]
1. A,C,D,B

[Option ID = 13513]
2. B,A,D,C

[Option ID = 13514]
3. C,B,AD

[Option ID = 13515]
4. D,A, B, C

[Option ID = 13516]
Correct Answer :-
e AC,D,B

[Option ID = 13513]

52) Choose the right chronological sequence of the publication of the following books:
A. Margaret Atwood, The Handmaid’s Tale
B. Alice Walker, The Color Purple
C. Doris Lessing, The Golden Notebook
D. Toni Morrison, The Bluest Eye
Choose the correct answer from the options given below:

[Question ID = 10880][Question Description = S3_qSNz_PG_ENG_Q62]
1. A,B,D,C

[Option ID = 13517]
2. B,AD,C

[Option ID = 13518]
3. G,D,B,A

[Option ID = 13519]
4. D,C,B,A

[Option ID = 13520]
Correct Answer :-
e AB,D,C

[Option ID = 13517]

53) Arrange the following terms in the chronological order of their use in literary theory:



gynesis
scriptible
negritude
paratext
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Choose the correct answer from the options given below:

[Question ID = 10881][Question Description = S3_qSNz_PG_ENG_Q63]
1. D,A,C B

[Option ID = 13521]
2. A/B,C,D

[Option ID = 13522]
3. CAD,B

[Option ID = 13523]
4. B,C,D,A

[Option ID = 13524]
Correct Answer :-
e DACB

[Option ID = 13521]

54) Given below are two statements:

Statement I: Unlike scientific research, literary research does not have specific materials for investigation and scientific
tools for reaching a conclusion and formulating a theory.

Statement II: Literary research consists of critical interpretations of an author’s work to the exclusion of biography and
editing of texts.
In the light of the above statements, choose the most appropriate answer from the options given below:

[Question ID = 10882][Question Description = S3_qSNz_PG_ENG_Qé64]
1. Both Statement | and Statement |l are correct. [Option ID = 13525]

2. Both Statement | and Statement Il are incorrect. [Option ID = 13526]

3. Statement | is correct but Statement Il is incorrect. [Option ID = 13527]
4. Statement | is incorrect but Statement Il is correct. [Option ID = 13528]

Correct Answer :-

e Both Statement | and Statement Il are correct. [Option ID = 13525]

55) Given below are two statements:
Statement I: Linguists, being primarily interested in the scientific study of language, approach language dispassionately.
Statement Il: Linguists are necessarily polyglots who bring their own biases to language study.

In the light of the above statements, choose the most appropriate answer from the options given below:

[Question ID = 10883][Question Description = S3_qSNz_PG_ENG_Q65]
1. Both Statement | and Statement |l are correct.

[Option ID = 13529]
2. Both Statement | and Statement Il are incorrect.

[Option ID = 13530]
3. Statement | is correct but Statement Il is incorrect.

[Option ID = 13531]
4. Statement | is incorrect but Statement Il is correct.

[Option ID = 13532]
Correct Answer :-
e Both Statement | and Statement Il are correct.

[Option ID = 13529]

56) Which of the following are features of the ‘Theatre of the Absurd’?

A. emphasis on the central role of God in the universe



B. presentation of futile actions devoid of any goal

C. portrayal of situations that point to the meaningfulness of life
D. lacking in conflicts and dramatic tensions

E. presenting players in a stasis or drift without definite roles

Choose the correct answer from the options given below:

[Question ID = 10884][Question Description = S3_qSNz_PG_ENG_Q66]
1. A, Cand E only

[Option ID = 13533]
2. B,DandE only

[Option ID = 13534]
3. A,Band D only

[Option ID = 13535]
4. B,Cand D only

[Option ID = 13536]

Correct Answer :-

e A CandE only

[Option ID = 13533]
57) Who, among the following, is known to have used elements from the Yakshagana tradition in his theatre?[Question ID =
10885][Question Description = S3_qSNz_PG_ENG_Q67]
. Badal Sircar [Option ID = 13537]
. Girish Karnad [Option ID = 13538]

1
2
3. Mohan Rakesh [Option ID = 13539]
4. Mahesh Dattani [Option ID = 13540]

Correct Answer :-
e Badal Sircar [Option ID = 13537]

58) Match List | with List Il

List | List Il

(Writer) (Book)

A. Bankimchandra Chatterjee I. Untouchable

B. Mulk Raj Anand Il. Rajmohan’s Wife

C. Panchkouree Khan Ill. Stories from Indian Christian Life
D. Kamala Sathianadhan IV. The Revelations of an Orderly

Choose the correct answer from the options given below:

[Question ID = 10886][Question Description = S3_qSNz_PG_ENG_Q68]
1. A-1l,B-1,C-1V, D-Ill [Option ID = 13541]
2. A-1,B-1I,C-1l,D- IV [Option ID = 13542]
3. A-1ll,B-1V, C-Il, D- I [Option ID = 13543]
4. A-IV,B-1,C-1l, D- Il [Option ID = 13544]

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 13541]

59) Which of these UK universities saw the first institutional incorporation of Cultural Studies?
[Question ID = 10887][Question Description = S3_qSNz_PG_ENG_Q69]
1. Bath Spa University

[Option ID = 13545]
2. Oxford University

[Option ID = 13546]
3. University of Birmingham

[Option ID = 13547]
4. Cambridge University

[Option ID = 13548]
Correct Answer :-
e Bath Spa University
[Option ID = 13545]



60) Which of these poets wrote a poem that served to inspire W B Yeats to write his own poem, “When you are Old”?
[Question ID = 10888][Question Description = S3_qSNz_PG_ENG_Q70]

1. Francois Villon

[Option ID = 13549]
2. Pierre de Ronsard

[Option ID = 13550]
3. Edmund Spencer

[Option ID = 13551]
4. Heinrich Heine

[Option ID = 13552]
Correct Answer :-
e Francois Villon

[Option ID = 13549]

61) Which of these does Meenakshi Mukherjee propose as the possible target readership of early Indian English novel?
A. A pan-Indian readership

B. A localized Indian readership

C. A British readership

D. The colonial administrator in India

Choose the correct answer from the options given below:

[Question ID = 10889][Question Description = S3_qSNz_PG_ENG_Q71]
. A and B only [Option ID = 13553]

B and C only [Option ID = 13554]

. C and D only [Option ID = 13555]

A and D only [Option ID = 13556]
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Correct Answer :-
e Aand B only [Option ID = 13553]

62) Match List | with List Il

List | List Il
(Poet) (Language)
A. Charles Baudelaire |. French

B. Heinrich Heine Il. German
C. Sylvia Path I1l. English
D. Jose Marti IV. Spanish

Choose the correct answer from the options given below:

[Question ID = 10890][Question Description = S3_qSNz_PG_ENG_Q72]
1. A-1,B-1l,C-1Il, D -V [Option ID = 13557]
2. A-1l,B-1ll, C-1V,D-1[Option ID = 13558]
3. A-1ll,B-1V,C-1,D- Il [Option ID = 13559]
4. A-1IV,B-1,C-Il, D-lll [Option ID = 13560]

Correct Answer :-
® A-I,B-Il,C-Ill,D-IV[Option ID = 13557]

63) Which of these constitute the preoccupations of the protagonist of Upamanyu Chatterjee’s English, August?
A. Marijuana

B. Magic

C. Monotheism

D. Marcus Aurelius

Choose the correct answer from the options given below:

[Question ID = 10891][Question Description = S3_qSNz_PG_ENG_Q73]
1. Aand B only

[Option ID = 13561]
2. Aand D only

[Option ID = 13562]
3. Band Conly

[Option ID = 13563]
4. Band D only



[Option ID = 13564]

Correct Answer :-
e AandBonly

[Option ID = 13561]

64) What was the name of the journal published from Bowling Green University beginning 1969, which carried essays on
amusement parks, comics and detective films?

[Question ID = 10892][Question Description = S3_qSNz_PG_ENG_Q74]

1. Journal of Mass Culture

[Option ID = 13565]
2. Journal of Popular Culture

[Option ID = 13566]
3. Journal of Public Culture

[Option ID = 13567]
4. Journal of Culture Studies

[Option ID = 13568]
Correct Answer :-
e Journal of Mass Culture

[Option ID = 13565]

65) Which of these best describes Shyam Selvadurai’s novel, Funny Boy?

[Question ID = 10893][Question Description = S3_qSNz_PG_ENG_Q75]

1. Novel of manners

[Option ID = 13569]
2. Sentimental novel

[Option ID = 13570]
3. Coming-of-age novel

[Option ID = 13571]
4. Picaresque novel

[Option ID = 13572]

Correct Answer :-
e Novel of manners

[Option ID = 13569]

66) Which of these questions would Cultural Studies be most interested in asking?
A. Who decides what is to be produced?

B. Who can afford the artifact?

C. How is the artifact marketed?

D. What is the register of speech in the artifact?

Choose the correct answer from the options given below:

[Question ID = 10894][Question Description = S3_qSNz_PG_ENG_Q76]
1. A, Band C only [Option ID = 13573]
2. A, Cand D only [Option ID = 13574]
3. B, Cand D only [Option ID = 13575]
4. A, B and D only [Option ID = 13576]

Correct Answer :-

e A, Band Conly [Option ID = 13573]

67) Who, among the following, played the most significant role in mobilizing the concept of ‘cultural intermediaries’?
[Question ID = 10895][Question Description = S3_qSNz_PG_ENG_Q77]

1. Luis Althusser

[Option ID = 13577]
2. Karl Marx

[Option ID = 13578]
3. Pierre Bourdieu

[Option ID = 13579]
4. Jurgen Habermas [Option ID = 13580]

Correct Answer :-



e Luis Althusser

[Option ID = 13577]

68) From whom does Gayatri Chakravorty Spivak borrow the term ‘subaltern’?

[Question ID = 10896][Question Description = S3_qSNz_PG_ENG_Q78]
1. Karl Marx

[Option ID = 13581]
2. Friedrich Engels

[Option ID = 13582]
3. Louis Althusser

[Option ID = 13583]
4. Antonio Gramsci

[Option ID = 13584]
Correct Answer :-
e Karl Marx

[Option ID = 13581]

69) Which of the following does the Subaltern Studies project contend?

A. Traditional historiography celebrated the role of the subalterns.

B. Traditional history of India’s freedom movement celebrates the contribution of select icons.
C. Traditional historiography highlights the dominant strands of India’s freedom struggle.

D. Subaltern Studies historiography highlights the dominant strands of India’s freedom struggle.
Choose the correct answer from the options given below:

[Question ID = 10897][Question Description = S3_qSNz_PG_ENG_Q79]
1. Aand B only. [Option ID = 13585]
2. B and Conly. [Option ID = 13586]
3. Aand Conly. [Option ID = 13587]
4. Band D only. [Option ID = 13588]

Correct Answer :-
e Aand B only. [Option ID = 13585]

70) Which of these did the Wood’s Despatch (1854) seek to propagate?
A. Impart Western knowledge to Indians

B. Restrict access to English learning in India

C. Educate British officers in Sanskrit and Persian

D. Create a class of public servants

Choose the correct answer from the options given below:

[Question ID = 10898][Question Description = S3_qSNz_PG_ENG_Q80]
1. Aand B only

[Option ID = 13589]
2. BandConly

[Option ID = 13590]
3. Aand Conly

[Option ID = 13591]
4. Aand D only

[Option ID = 13592]

Correct Answer :-
e AandBonly

[Option ID = 13589]

71) Arrange the following periodicals in the chronological order in which they started publication:
A. The Spectator

B. The Tatler

C. The Rambler

D. The Critical Review

Choose the correct answer from the options given below:



[Question ID = 10899][Question Description = S3_qSNz_PG_ENG_Q81]
1. A,B,C,D

[Option ID = 13593]
2. B,ACD

[Option ID = 13594]
3. B,CD,A

[Option ID = 13595]
4. A,D,B,C

[Option ID = 13596]
Correct Answer :-
e AB,CD

[Option ID = 13593]

72) Who, among these, does Gabriel Garcia Marquez name right in the beginning of his Nobel Prize address?
A. Ferdinand Magellan

B. Christopher Columbus

C. Marco Polo

D. Antonio Pigafetta

Choose the correct answer from the options given below:

[Question ID = 10900][Question Description = S3_qSNz_PG_ENG_Q82]
A and B only [Option ID = 13597]
. B and C only [Option ID = 13598]
C and D only [Option ID = 13599]
. Aand D only [Option ID = 13600]

A w N =

Correct Answer :-

e Aand B only [Option ID = 13597]

73) Which of these constitutes the only extant trilogy from ancient Greek tragedy?[Question ID = 10901][Question
Description = S3_qSNz_PG_ENG_Q83]

1. King Oedipus, Oedipus at Colonus, Antigone [Option ID = 13601]

2. Agamemnon, Choephori, The Eumenides [Option ID = 13602]

3. Agamemnon, Orestes, The Eumenides [Option ID = 13603]

4. King Oedipus, Orestes, Antigone [Option ID = 13604]

Correct Answer :-
e King Oedipus, Oedipus at Colonus, Antigone [Option ID = 13601]

74) Match List | with List I

List | List Il

(Author) (Form)

A. Pindar I. Epinicia

B. Menander Il. Old Comedy
C. Sappho lll. Lyric poetry
D. Aristophanes IV. New Comedy

Choose the correct answer from the options given below:

[Question ID = 10902][Question Description = S3_qSNz_PG_ENG_Q84]
A-1,B-1ll,C-1l,D -1V [Option ID = 13605]
A-1,B-1V,C-1ll,D- 1l [Option ID = 13606]
A-11,B-1,C-1V, D - lll [Option ID = 13607]
A-1I,B-1V,C-1,D- Il [Option ID = 13608]

A WN -

Correct Answer :-

e A-1,B-1ll,C-1I, D - IV [Option ID = 13605]

75) Which of these does the book How to read Donald Duck identify as an important element in its analysis of
imperialist ideology in the Walt Disney comicbook?

[Question ID = 10903][Question Description = S3_qSNz_PG_ENG_Q85]
1. impoverished royalty [Option ID = 13609]

2. noble savage [Option ID = 13610]

3. scientific magic [Option ID = 13611]



4. heartless civilisation [Option ID = 13612]

Correct Answer :-
e impoverished royalty [Option ID = 13609]

76) Match List | with List Il

List | List Il

(Play) (Playwright)

IA. Bertolt Brecht |. Cat on a Hot Tin Roof|
B. Tennessee Williams Il. Life of Galileo

C. Vaclav Havel i X
lll. Miss Julie

D. August Strindberg IV. Temptation
Choose the correct answer from the options given below:

[Question ID = 10904][Question Description = S3_qSNz_PG_ENG_Q86]
A-1,B-1l,C-1V, D - Il [Option ID = 13613]
A-1ll,B-1l,C-1,D-1V[Option ID = 13614]
A-1V,B -1, C-1,D- Il [Option ID = 13615]
A-1l,B-1,C-1V,D-lll [Option ID = 13616]

A W N -

Correct Answer :-
e A-1,B-1l,C-1V,D- Il [Option ID = 13613]

77) Which of these plays by Girish Karnad shares its theme with Thomas Mann’s The Transposed Heads?
[Question ID = 10905][Question Description = S3_qSNz_PG_ENG_Q87]

1. Hayavadana

[Option ID = 13617]
2. Yayati

[Option ID = 13618]
3. Nagamandala
[Option ID = 13619]
4. Tale Danda
[Option ID = 13620]
Correct Answer :-
e Hayavadana

[Option ID = 13617]

78) With which of these is Ngugi wa Thiongo generally associated?
[Question ID = 10906][Question Description = S3_qSNz_PG_ENG_Q88]

1. Decolonising the State

[Option ID = 13621]
2. Decolonising the Mind

[Option ID = 13622]
3. Decolonising the Body

[Option ID = 13623]
4. Decolonising the Polity

[Option ID = 13624]
Correct Answer :-
e Decolonising the State

[Option ID = 13621]

79) Match List | with List I

List | List Il

(Novel) (Author)

A. Don Quixote . Machado de Assis

B. Sorrows of Young Werther Il. Honore de Balzac

C. Lost Illusions Ill. Goethe

D. Epitaph of a Small Winner IV. Miguel de Cervantes|

Choose the correct answer from the options given below:

[Question ID = 10907][Question Description = S3_qSNz_PG_ENG_Q89]
1. A-1,B-1ll,C-1l,D-IV[Option ID = 13625]
2. A-Il,B-1,C-1ll, D -1V [Option ID = 13626]



3. A-Iv,B-1ll,C-1l, D-1[Option ID = 13627]
4. A-1ll,B-1,C-1V,D- Il [Option ID = 13628]

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 13625]

80) Charles Lamb used the pseudonym Elia for writing in which of the following periodicals?

[Question ID = 10908][Question Description = S3_qSNz_PG_ENG_Q90]
1. London Magazine

[Option ID = 13629]
2. The Edinburg Review

[Option ID = 13630]
3. The Quarterly Review

[Option ID = 13631]
4. Athenaeum

[Option ID = 13632]
Correct Answer :-
e [ondon Magazine

[Option ID = 13629]

81) In “Mr Bennett and Mrs Brown” Virginia Woolf:

[Question ID = 10909][Question Description = S3_qSNz_PG_ENG_Q91]
1. responds to E.M Forster’s remarks on character in fiction.

[Option ID = 13633]
2. criticises book buying preferences of the educated English class.

[Option ID = 13634]
3. analyses the state of modern fiction by contrasting two generations of writers.

[Option ID = 13635]
4. presents modernity as a stable and coherent project uniting all artists.

[Option ID = 13636]
Correct Answer :-
e responds to E.M Forster’s remarks on character in fiction.

[Option ID = 13633]

82) In “Politics and the English Language” which two of the following ‘tricks’ are mentioned by George Orwell as ‘bad
habits’ of English use?

A. obsolete words

B. pretentious diction

C. dying metaphors

D. false modifiers

Choose the correct answer from the options given below:

[Question ID = 10910][Question Description = S3_qSNz_PG_ENG_Q92]
1. Aand B only

[Option ID = 13637]
2. BandConly

[Option ID = 13638]
3. BandD only

[Option ID = 13639]
4. Cand D only

[Option ID = 13640]
Correct Answer :-
e AandBonly
[Option ID = 13637]

83) Match List | with List Il

List | List Il

(Essay) (Essayist)

A. “The Tory Fox-Hunter” I. Francis Bacon
B. “What | Believe” Il. Joseph Addison



C. “The Death of the Moth” Il. E.M.Forster
D. “Of Ambition” IV. Virginia Woolf
Choose the correct answer from the options given below:

[Question ID = 10911][Question Description = S3_qSNz_PG_ENG_Q93]
1. A-1,B-lll, C-IV, D -ll [Option ID = 13641]
2. A-ll,B-IV, C-Il, D -I[Option ID = 13642]
3. A-ll,B-lll,C-IV, D -l [Option ID = 13643]
4. A-IV,B-l, C-Il, D-lll [Option ID = 13644]

Correct Answer :-
e A-l,B-lll,C-IV,D-Il [Option ID = 13641]

84) Arrange the following characters in their chronological sequence of appearance:
A. Mirabell

B. Shylock

C. Jimmy Porter

D. Sir Epicure Mammon

Choose the correct answer from the options given below

[Question ID = 10912][Question Description = S3_qSNz_PG_ENG_Q94]
D, B, A, C [Option ID = 13645]

B, D, A, C [Option ID = 13646]

D, B, C, A [Option ID = 13647]

B, D, C, A [Option ID = 13648]

A wWw N =

Correct Answer :-

e D, B, A, C[Option ID = 13645]

85) Which two of the following concepts are deployed in the work of Frederic Jameson?
A. Pastiche

B. Hyperreal

C. Schizophrenia

D. Habitus

Choose the correct answer from the options given below:

[Question ID = 10913][Question Description = S3_qSNz_PG_ENG_Q95]
1. A and B only [Option ID = 13649]
2. Cand D only [Option ID = 13650]
3. Band D only [Option ID = 13651]
4. A and C only [Option ID = 13652]

Correct Answer :-
e Aand B only [Option ID = 13649]

86) Arrange the following plays in their chronological sequence:
A. Sergeant Musgrave’s Dance

B. The Playboy of the Western World

C. Look Back in Anger

D. Man and Superman

Choose the correct answer from the options given below

[Question ID = 10914][Question Description = S3_qSNz_PG_ENG_Q96]
1. D,B, A, C

[Option ID = 13653]
2. B, D, A, C

[Option ID = 13654]
3. D,B,C, A

[Option ID = 13655]
4. B,D,C, A

[Option ID = 13656]
Correct Answer :-
e D,B,AC

[Option ID = 13653]



87) Match List | with List I

List | List 11

(Text) (Author)

IA. Modernity at Large I. J. Urry

B. The Tourist Gaze Il. E.W.Said

C. Culture and Imperialism IIII. C.L.R. James
D. The Black Jacobins |IV. A. Appadurai

Choose the correct answer from the options given below:

[Question ID = 10915][Question Description = S3_qSNz_PG_ENG_Q97]
1. A-IV,B-lll,C-Il,D-l

[Option ID = 13657]
2. A-lll,B-IV,C-ll,D-l

[Option ID = 13658]
3. AL, B-ll,C-IV,D-l

[Option ID = 13659]
4. A-IV,B-l,C-ll,D-l

[Option ID = 13660]
Correct Answer :-
® A-IV,B-lll,C-Il,D-I
[Option ID = 13657]

88) What might the speaker mean when he addresses ‘Time’ in a Shakespearean sonnet and declares that “I will be true, despite thy scythe and thee ”?
A. Time preserves human life.

B. With time comes change.

C. Time creates opportunities.

D. Time removes human life.

Choose the correct answer from the options given below:

[Question ID = 10916][Question Description = S3_qSNz_PG_ENG_Q98]
1. Aand B only

[Option ID = 13661]
2. Cand D only

[Option ID = 13662]
3. Band D only

[Option ID = 13663]
4. Aand Conly

[Option ID = 13664]
Correct Answer :-
e AandB only
[Option ID = 13661]

89) Which two of the following stage directions are from Harold Pinter’s The Birthday Party?

A. The living-room of a house on a seaside town.

B. A garbage pail on the ground next to the porch steps.

C. A light shows from upstairs bedroom, lower floor windows being dark.

D. He hangs the drum around his neck, taps it gently with the sticks, then marches round the table, beating it regularly.

Choose the correct answer from the options given below:

[Question ID = 10917][Question Description = S3_qSNz_PG_ENG_Q99]
1. Aand D only

[Option ID = 13665]
2. Cand D only

[Option ID = 13666]
3. Babd Conly

[Option ID = 13667]
4. Aand Conly

[Option ID = 13668]

Correct Answer :-



® AandD only

[Option ID = 13665]

90) Arrange the following lines of poetry in their chronological sequence:
A. “An aged man is but a paltry thing.”

B. “The world is too much with us.”

C. “Daddy, | have had to kill you.”

D. “After great pain, a formal feeling comes -”

Choose the correct answer from the options given below

[Question ID = 10918][Question Description = S3_qSNz_PG_ENG_Q100]
1. B,D, A, C

[Option ID = 13669]
2. D,B,A,C

[Option ID = 13670]
3. D,B,C, A

[Option ID = 13671]
4. B,D,C, A

[Option ID = 13672]

Correct Answer :-
e B,D,AC

[Option ID = 13669]

Topic:- GP_O01DEC_SH1_A

1) Study the table carefully and answer the questions that follows :

In the following table, the total number of students in different courses of a college along with percentage of males and
females are given.

Coursesof students

Total number

Percentage of
male students
(%)

Percentage of
female students
(%)

B.Sc. 400 65 35
B.A. 650 54 46
M.Sc. (280 75 25
M.A. 340 55 45
PhD |180 65 35

afernT T Araenelgdad 31eRIol B2 Yooll @ IR I :
forraiferRaa anferet 9t gzl iz aAfdensil &bt yferoraar & rer ves #Asifdencrr o fafiioer urgradl i 81 / S1qusil & aet s & 3 3 ©

o1 /s1qI3il Bt mﬁdﬁqﬁsmﬁmﬁdﬂ
R e (%) ftrore (%)
(@ o1 30 400 65 35
e 650 54 46
oar w1 2280 75 25
w340 55 45
ot var &t 180 65 35

Find out the total number of male students in the college.

FalfdEncrI 3 S1qi &l @t Iz ool 3 -

[Question ID = 11019][Question Description = S2_qSNz_PG_GP32_Q01]
1. 1120



[Option ID = 14073]
2. 1125

[Option ID = 14074]
3. 1130

[Option ID = 14075]
4. 1135

[Option ID = 14076]
Correct Answer :-
e 1120

[Option ID = 14073]

2) Study the table carefully and answer the questions that follows :

In the following table, the total number of students in different courses of a college along with percentage of males and
females are given.

Percentage of [Percentage of
otal number
Courses male students female students
of students
(%) (%)
B.Sc. (400 65 35
B.A. (650 54 46
M.Sc. |280 75 25
M.A. 340 55 45
PhD 180 65 35

aiferp1 T Araenelyded 31eRIel B2 gooll @ Iz Sifvru :
forrarferRaa anferr 9 gl 3l Afdetsii &I gfcroraar @ eI v #Asifdencrr o faftioel argradl 3 81 / S1qusil I aet A= 1 o 3 ©

o1 /eTqueti oo [eIgi B yRierdasTauai Bt
MBI e (%) ftrorera (%)
(@ vt 3 400 65 35
e 650 54 46
oot war 2280 75 25
O © 340 55 45
it war & 180 65 35

Find out the difference between the total number of male students and total number of female students in the college.

Faifdencrr 3 S1q) ik S1gsil &l @ e A foodon iar 3 ?

[Question ID = 11020][Question Description = S2_qSNz_PG_GP32_Q02]

1. 380

[Option ID = 14077]
2. 390

[Option ID = 14078]
3. 400

[Option ID = 14079]
4. 410

[Option ID = 14080]
Correct Answer :-
e 380

[Option ID = 14077]

3) Study the table carefully and answer the questions that follows :

In the following table, the total number of students in different courses of a college along with percentage of males and
females are given.




Courses

Total number
of students

Percentage of
male students
(%)

Percentage of
female students
(%)

B.Sc. 400 65 35
B.A. 650 54 46
M.Sc. (280 75 25
M.A. 340 55 45
PhD |180 65 35

aifert o1 Aaenciiyde 31eRIe B2 Yol & Ia= difsre :
forgaiferRaa anferopt 31 yul 3iiz Afdenasii oI yferoraar @ A1 v Asifdencrr & fdaficel argaydl 3 81 / STI3il &l aget e & 31 3 &

— I /ST1qIsil Bt mrﬁdﬁt{ﬁl@mﬂﬂmﬁdﬁ
R || (%) fererciar (%)

|Eﬂ@zﬁ400 65 35

e 650 54 46

oot war 2f1280 75 25

AT 340 55 45

ot var €t 180 65 35

Find out the ratio of female students in graduation (BSc + BA) and female students in post graduation (MSc + MA)

Foliae® (flearfl + div) 3 srqusil sk FeaeR (T + waeRil) d S1usli oI sefurd o= 3 ?

[Question ID = 11021][Question Description = S2_qSNz_PG_GP32_Q03]
1. 435/ 217

[Option ID = 14081]
2. 438/ 219

[Option ID = 14082]
3. 437/ 223

[Option ID = 14083]
4. 439/ 223

[Option ID = 14084]
Correct Answer :-
e 435/ 217

[Option ID = 14081]

4) Study the table carefully and answer the questions that follows :

In the following table, the total number of students in different courses of a college along with percentage of males and
females are given.

Percentage of |Percentage of
Total number
Courses male students female students
of students
(%) (%)
B.Sc. (400 65 35
B.A. [650 54 46
IM.Sc. |280 75 25
M.A. 340 55 45
PhD 180 65 35

AiferepT T Araenelgdd 31ERIel B2 Yooll @ Ia= I :
forgotferRaa anferest 3 y=ul silz aAfdcmaii bt gferoraar @ Arer ves wsifdencrr @ faficer urgaapgil 3 81 / s1qusil b g e & o 3 :

oIql &bt C[[?[Qlﬂﬂ'l'iﬂ?[[sﬁﬁ
(%) gfererarar (%)

I /STl |t
R2BI 1

RIDECAY




|Eﬁ@1zﬂ400 65 35
it 650 54 46
oot wa1 2280 75 25
e 340 55 45
ot war € 180 65 35

Find out the ratio of male students in post-graduation (MSc + MA) and male students in the PhD program.

FolidraR (TauRil + ware) i tiast 3 sl or siourd o 3 ?

[Question ID = 11022][Question Description = S2_qSNz_PG_GP32_Q04]
1. 397

[Option ID = 14085]
2. 395

[Option ID = 14086]
3. 39

[Option ID = 14087]
4. 394

[Option ID = 14088]
Correct Answer :-
e 397

[Option ID = 14085]

5) Study the table carefully and answer the questions that follows :

In the following table, the total number of students in different courses of a college along with percentage of males and
females are given.

Percentage of [Percentage of
otal number

Coursesof students male students female students
(%) (%)

B.Sc. (400 65 35

B.A. (650 54 46

M.Sc. |280 75 25

M.A. 340 55 45

PhD 180 65 35

aferp1 T Araeneiyded 31eRIel B2 geoll @ IR Sifru :
forearferRaa anferr 9 gl 3l Afdetsii &I gfcroraar @ el v #Asifdencrr o fafiicel argradl 3 o1 / S1qusil &I aet A= 1 o 3 ©

sy 1 /R BIqi B gRreradrogai &t
S i (%) gfrercrar (%)

Iaﬁ-mzﬁ 400 65 35

e 650 54 46

oot a1 21280 75 25

QI © 340 55 45

it e $t (180 65 35

Find out the difference between male students in graduation (BSc + BA) and male students of post-graduation (MA + MSc).

Yol (fileeril + div) 3 s1ql iR FemaeR (Tt iR vaerRil) i s1ql @I siaz feden 3 ?

[Question ID = 11023][Question Description = S2_qSNz_PG_GP32_QO05]
1. 213



[Option ID = 14089]
2. 214

[Option ID = 14090]
3. 215

[Option ID = 14091]
4. 216

[Option ID = 14092]

Correct Answer :-
e 213

[Option ID = 14089]

Topic:- GP_01DEC_SH1_B

1) As students mature, the study of social issues at the community, state, national and international levels can be made
available to them. Which model is designed for this purpose?

S B - BT a3 3K 3, WIGKI, IS, AKH 312 AR TR R ARG IRl BT 31eTRIeT I3 IUCTIo] DU S ADAT 3 3 Ylsiol 3
fop=1 diise @I f3emsat fipwn sk 8 ?

[Question ID = 11024][Question Description = S2_qSNz_PG_GP32_Q06]
1. Role playing/gjférepr forafs [Option ID = 14093]

2. Jurisprudential inquiry/faférem=efer geet [Option ID = 14094]

3. Structured inquiry/3izaenag geat [Option ID = 14095]

4. Group investigation /g sreduur [Option ID = 14096]

Correct Answer :-
e Role playing/sjfaret forafe [Option ID = 14093]

2) Arrange the phases for syntax of Group Investigations Model in correct sequence :
A. Students formulate study task and organise for study

B. Students analyse progress and process

C. Students encounter puzzling situation

D. Independent and Group study

E. Students explore reactions to the situation

Choose the correct answer from the options given below

AYE AcAYVT ATSA B ara ot o a=vil Bl A8 o i crai¥ea Hifw :
A. 317 - BIIU 3161 PRI TRIR B 3 AR IMERIGT DI RAAR-2UA DI 3
B. 8Iq - aIqe ypIfe ik yfepan o1 feauur o &

C. B1q - S1I3ll @ AR6l UW9II6l Dol arcil ufiFerfer sl 3

D. adq ik AdPE MR

E. B1q - squ uliefd o yiefasii or seayur o

ofi o s1u fmeul i A A8 3T T <RI HifdTT :

[Question ID = 11025][Question Description = S2_qSNz_PG_GP32_Q07]

B, E, D [Option ID = 14097]
D, E, C [Option ID = 14098]
, A, D, B [Option ID = 14099]
B, A, C [Option ID = 14100]

Correct Answer :-
e A C, B, E, D[Option ID = 14097]

3) Given below are two statements

Statement I: The core of the teaching process is the arrangement of environments within which students can interact and
study how to learn.

Statement II: A model of teaching is not a description of a learning environment.

In light of the above statements, choose the most appropriate answer from the options given below

ofiar S averet feu st 3 ¢



Derdl - | @ foreror yftpem ufidor &t Uil wraven 2 RrR1d iR B - B RIUR RIAER B2 AD & 312 A HEIRIGI B2 ADd & [ Aol DA
3

@era - || : forgiur sifsa sifeerer ufsder o1 faasur ot 3

SR il @ 3l 3, ofld v a1e fameul 3 A AT IWYTD IaR I RI6l DI

[Question ID = 11026][Question Description = S2_qSNz_PG_GP32_Q08]

Both Statement | and Statement Il are correct/@emt | 3z Il clotf 28 € [Option ID = 14101]

Both Statement | and Statement Il are incorrect/aermer | 3iiz |l Siail steie & [Option ID = 14102]

Statement | is correct but Statement Il is incorrect/a@erwot | 3@t 2, fbog weret |l sieia & [Option ID = 14103]
Statement | is incorrect but Statement Il is correct/emwr | ster &, o et |l 3t & [Option ID = 14104]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemwr | iR |1 cloll 28 & [Option ID = 14101]

4) The 4Rs approach to conflict resolution comprises:
A. Reading

B. Writing

C. Respect

D. Reprimand

E. Resolution

Choose the correct answer from the options given below:

&ok Aol > 4 3= (R) zfdcmlvr & oo 3 -

A. uga (3if3er)

B. ferdon (rsfean)

C. e (Fac)

D. srcfom (Rftyits)

E. et (Rsrcygron)

ofi o s1u faseal & A A8 IR BT wRI6! BT :

[Question ID = 11027][Question Description = S2_qSNz_PG_GP32_Q09]

1. A, B, Cand D only/@aa A, B, C, D [Option ID = 14105]
2. A, B, Cand E only/@aet A, B, C, E [Option ID = 14106]
3. B, C, D and E only/daa B, C, D, E [Option ID = 14107]
4. A, B, D and E only/a@aet A, B, D, E [Option ID = 14108]

Correct Answer :-
e A B, CandD only/a@aet A, B, C, D [Option ID = 14105]

5) Match List | with List I

List | List Il
Piaget's Stages of Cognitive Development

Approximate age

A. Sensorimotor |. Begins about the first grade to early adolescent, around 11

years old
B. Preoperational Il. Adolescent to adulthood
C. Concrete operational Il. 0 - 2years
. IV. Begins about the time the child starts talking to about 7
D. Formal operational
years old

Choose the correct answer from the options given below:

gt -1 @1 3 -1l A Fgarfera Hifsre ¢

et -1 et -1l

(RIS & Jisielca® fiprRT &
(cIoT8I3T 31RY)

[FIRUT)

A. 3 Qe |. e 3)s A yd fepoierazen cpner 11 ad &f
IR b

B. gd - ifdpacared Il. fpolzrazen A RRFD

C. 3t - ifdpreas 1. 0 - 2 gt

D. 31y - Jifdgcas IV. sl @ dictoll 95 @0l A PRI 7 aul am

offc feu aru frpedl 3 A 3 3R gfore :



[Question ID = 11028][Question Description = S2_qSNz_PG_GP32_Q10]

1. A-1IV,B-1,C-1l, D - lll [Option ID = 14109]
2. A-11,B-1ll,C-1V, D - I [Option ID = 14110]
3. A-1,B-1I,C-1ll,D- IV [Option ID = 14111]
4. A-1ll,B-1V, C-1,D- Il [Option ID = 14112]

Correct Answer :-
e A-IV,B-1,C-Il,D-Ill [Option ID = 14109]

6) Discourse analysis in historical research is associated with
sferer deht oner 3 f3rRi vonferRr1 el Hdfe@a 3 :

[Question ID = 11029][Question Description = S2_qSNz_PG_GP32_Q11]
1. Hobsbawn/gfemtor [Option ID = 14113]

2. Carr/=r [Option ID = 14114]

3. Skinner/Rwor [Option ID = 14115]

4. Foucault/g®r [Option ID = 14116]

Correct Answer :-
e Hobsbawn/gisamier [Option ID = 14113]

7) Which of the following are examples of violation of research ethics?
A. Violating participant confidentiality

B. Making recommendations beyond the scope of data collected

C. Using an inappropriate research design

D. Changing data to meet a desired outcome

E. Using a quantitative method in place of a qualitative method

Choose the correct answer from the options given below:

forgatferRaa 31 3 PBlat - Blat A oNter b Siferpar @ Ieciae! D GBI 3 ¢

A. el shucfiRrdr o1 3ccizet

B. 155éid siibs] & SRR @ ars: Riwifidl @

C. 3oIURITd 9Ner 3if¥rbeu I GBI Dol

D. qifdsa uf¥vinr yra ool @ fo1u siidcs dgdd Joll

E. spncare faf?r & reel ur uftenvncae fRif?r @1 SuRIeT Bl

ofid 3w o1 fwsedl # A A8 IR BT <RIl BT :

[Question ID = 11030][Question Description = S2_qSNz_PG_GP32_Q12]

A, B, C and D only/dact A, B, C, D [Option ID = 14117]
B, C, D and E only/@aa B, C, D, E [Option ID = 14118]
A, B and D only/d@ac A, B, D [Option ID = 14119]
B, D and E only/@aet B, D, E [Option ID = 14120]

A w N =

Correct Answer :-
e A, B, CandD only/a@aet A, B, C, D [Option ID = 14117]

8) Given below are two statements

Statement I: Experimenter effects are errors introduced during the collection or analysis of experimental data due to the
behaviour of the experimenter.

Statement II: Due to the presence of certain cues in the experimental setting, the participants form an interpretation of the
experiment's purpose and subconsciously change their behaviour to fit that interpretation.

In light of the above statements, choose the most appropriate answer from the options given below

il 3l Dol fRu sre 3 ¢
Dol - | : gAPIrdl P JRIPIDdl @ SIGsR @ PRUI YRIPIHAD bS] @ Hogul Al freduul & Skl g3 qfe 8

Do - || : gHPnea® caaren # diduR Addl $I Iuf-efel @ BRI AsHP RIS B YRIlSTd dl RIRSAT B 3 3i17 d adde] IR UR A
IR A ARISRA {doTol @ foTu U6l RIask d6dl od &

SR> DUsil B IIElID 3, ofil fu 1w frapeul 3 A A8l IR DI TR:ol DHIfSTU
[Question ID = 11031][Question Description = S2_qSNz_PG_GP32_Q13]



Both Statement | and Statement Il are correct/wmeret | 3iiz || glolf 3t & [Option ID = 14121]

Both Statement | and Statement Il are incorrect/aemr | 3iiz |l Giei sl & [Option ID = 14122]

Statement | is correct but Statement Il is incorrect/@ewer | 3@t 8, fpoq @t |l st & [Option ID = 14123]
Statement | is incorrect but Statement Il is correct/@em | st &, o @eret |l 3t & [Option ID = 14124]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemwr | iz |1 cloll 28t & [Option ID = 14121]

9) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The major deficiency of pre-experimental design is that they fail to provide comparison groups.
Reason R: Equivalence can be achieved through matching and random assignment.

In light of the above statements, choose the correct answer from the options given below

il €1 perol i a1w 31 uop sifdraserat (Assertion A) & wu 3 iR ¢RI 3AD BRUT (Reason R) & wu 3 :
sifdrperet (A) : gd - QRIPIcAD 3if¥ided dI gz dil Aas 3 b A qetell e YeIel Dol 3 3RTbC 36 3
@RI (R) : Fdcol (dARie) ik ArelRed gamrl & Arcad A AdAdeadl Yrd bl i Awdl 3

SR Dol D 3Icllid #, ofld fGu famcdl 3 A 7 3a= &1 wRIel Hifsre -

[Question ID = 11032][Question Description = S2_qSNz_PG_GP32_Q14]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) dlail A1 & 3k (R), (A) &t 38 =z & [Option ID = 14125]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) glail 31 & wag (R), (A) &l 3@ «aren orét & [Option ID = 14126]
A is true but R is false/(A) 3=t 3, weog (R) sRi=r 8 [Option ID = 14127]

A is false but R is true/(A) sric 8, wog (R) 3=x & [Option ID = 14128]

A WN =

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @leil 311 3 aii (R), (A) &t 3t e & [Option ID = 14125]

10) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In the case study method, the researcher collects detailed information from a limited number of participants.

Reason R : Findings based on case study research can be used to develop research hypotheses/questions for subsequent
studies.

In light of the above statements, choose the correct answer from the options given below

il €1 erol i arw 3 @ uop sifraperat (Assertion A) @ wu 3 3R gIRI 39D dRUl (Reason R) & »u 3 :

sifiraserot (A) : cafip areerior - Raftr & olterasaf gRpnBRIY B Mfdra zizar A Rega siorerst g o ¥

@Rl (R) : caftp s1eRIol - 9Iiel UR 3mentyd foresad I IuRIeT Uardl 31eRIsl @ fe1e 9liel Yrameuell / Yosl AR dl @ fere v it adpar 8
IR PG D 3MClID 3, ol U 31w eyl 3 A Bl IR DI TR Hifote :

[Question ID = 11033][Question Description = S2_qSNz_PG_GP32_Q15]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 3= & 3iiz (R), (A) &t 3t =mn & [Option ID = 14129]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 31 & udoq (R), (A) &t 348 == ot & [Option ID = 14130]
3. Ais true but R is false/(A) 3= &, weag (R) sricx & [Option ID = 14131]

4. Ais false but R is true/(A) srica 8, wog (R) 3= & [Option ID = 14132]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 21 2 ik (R), (A) &t 318t s 3 [Option ID = 14129]

11) The Gandhian method of communication is known as:

JFguuT <6t stiehiardt fafr ot et su 3 Strer strar 3 ?

[Question ID = 11034][Question Description = S2_qSNz_PG_GP32_Q16]
1. Non-technological /313 - gienfsrcbrer [Option ID = 14133]

2. Massive/gad [Option ID = 14134]

3. Personal/dafepe [Option ID = 14135]

4. Massline/ariemser [Option ID = 14136]

Correct Answer :-
e Non-technological/31z - gieifsrbir [Option ID = 14133]

12) Modern mass communication has the characteristics of being
A. Sporadic
B. Continuous

C. Based on a schedule



D. Not much dependent on technology
E. Dependent on the use of media

Choose the correct answer from the options given below:

sggfora SrorRiaR &t = fadraarm 3 :

A. fadbiut

B. sorara

C. foifd1a orRIgpH UR smenfea

D. gienf3rhl uz siferes foske orét

E. fif3n & suriler us fonk

il fou s1u frpeul 3 2 & IR BT TI6l HIfSIE ©

[Question ID = 11035][Question Description = S2_qSNz_PG_GP32_Q17]

. A, Band C only/dact A, B siiz C [Option ID = 14137]
. B, Cand E only/@ae B, C siz E [Option ID = 14138]
. C, Dand E only/aact C, D aliz E [Option ID = 14139]
. A, D and E only/daer A, D siiz E [Option ID = 14140]

A WN =

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 14137]

13) Given below are two statements

Statement I: The primary act of communication begins when an individual decides to use a particular language symbol,
susceptible to standardised interpretation, resulting in common meaning.

Statement Il: Meaning refers to inner, subjective reactions to images, interpretations, emotions and feelings as given out by
the words used.

In light of the above statements, choose the most appropriate answer from the options given below

oflar <1 averet feu s1e 3 ¢

ool - | 1 AFYHUT BT Greafdres BRI 9s Bl & S/ BIE RARP FART MY AdDd BT YART B! ol forvla diar 3 Rridbl Aerdblaa caren 6l st
Al 3 3R Rradl ufyvifer AAwIGe 3ref @ wu & Al 3

werel - |l : sref sferit & gfer sicif¥e, cafepforss yferfepmsit camoansii; griler fobu g 9recl A IcUool Idolrsil il smal A FHdferd 3
SWRID DUl D 3Iclld 3, ofldl Gu farpedl 3 A AR WY IR DI TRIol DIfSTT :
[Question ID = 11036][Question Description = S2_qSNz_PG_GP32_Q18]

Both Statement | and Statement Il are correct/@emt | 3R Il Gloif 28 & [Option ID = 14141]

Both Statement | and Statement Il are incorrect/a@erwer | iz 1l Glall sieta & [Option ID = 14142]

Statement | is correct but Statement Il is incorrect/@emer | 3t 8, fpoq @eret |l st & [Option ID = 14143]
Statement | is incorrect but Statement Il is correct/erwt | s1cia 3, fdboq @erwet || 3t & [Option ID = 14144]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/emr | 3iiz |l loil 2 & [Option ID = 14141]

14) Find out the sequence of elements of effective communication as listed by Cutlip et al
A. Promise of reward

B. Message clarity

C. Consistency

D. Climate of belief

E. Participatory context

Choose the correct answer from the options given below

prefera iz sro 6 Il D IIGRIR Yorrdl AYUUT & BRDI DI IS G =T 8 ?
A. 36I1 @I arer

B. a1cg9r bt Fusear

C. Jerder

D. fepara o1 ardrar

E. ssuel Jc



oiid fu a1u farapeul 3 A 2t IR BT TR DI
[Question ID = 11037][Question Description = S2_qSNz_PG_GP32_Q19]

E, C [Option ID = 14145]
, A, B [Option ID = 14146]
B, C [Option ID = 14147]
D, B [Option ID = 14148]

A W N -

Correct Answer :-
e A, B, D, E, C [Option ID = 14145]

15) Match List | with List Il

List | List Il

Communication function/Issue /Area of Operation

A. Gatekeeping I. Time - binding capacity
B. Persuasion Il. News

C. Entropy lll. Advertising

D. Memory IV. Chaos in communication|

Choose the correct answer from the options given below:

et -1 1 g -1l A g Hife

Rpet -1 et -l

(FFquEr DRI / foreren) (orf gip)

A. TR 2gIuT (31c dhiftier) |. IR - S5 SIaICT

B. waacion Il. AR

C. worgdt ll. fersrast

D. Fgfer IV. gy 3 3erer geren

oii<l feu are famedl 3 A A8 3R gfore :
[Question ID = 11038][Question Description = S2_qSNz_PG_GP32_Q20]

A-11,B-1Il,C- 1V, D- | [Option ID = 14149]
. A-1ll,B-1V,C-1,D - Il [Option ID = 14150]
A-1V,B-1,C-II, D - lll [Option ID = 14151]
A-1,B-1l,C-1ll, D - IV [Option ID = 14152]

A WN -

Correct Answer :-
e A-Il,B-IIl,C-1V,D-I[Option ID = 14149]

16) The angle between hour hand and the minute hand at 3:40 pm is

3RIE 3 : 40 w91 Her 3iiR fBeic &I JYF D i @1 PIvT fdodon 8 ?

[Question ID = 11039][Question Description = S2_qSNz_PG_GP32_Q21]
1. 1300

[Option ID = 14153]
2. 1500

[Option ID = 14154]
3. 1200

[Option ID = 14155]
4. 1250

[Option ID = 14156]
Correct Answer :-
e 130°

[Option ID = 14153]

17) A sum of money on simple interest doubles itself in 10 years . It will triple itself in

@I$ erorfdr 10 adf i A1 sarsl U galoll 8l Siidl & s feberol adif af diel sgemm 31 sesil ?

[Question ID = 11040][Question Description = S2_qSNz_PG_GP32_Q22]
15 years/15 ad [Option ID = 14157]
20 years/20 ad [Option ID = 14158]
30 years/30 adf [Option ID = 14159]
32 years/32 ad [Option ID = 14160]

A W N =



Correct Answer :-
e 15 years/15 adf [Option ID = 14157]

18) Find the missing term in the following series

2,9,37,149,7?

forgatferRaa ojzen 3 o iz = 3

2,9,37,149,?

[Question ID = 11041][Question Description = S2_qSNz_PG_GP32_Q23]
1. 594

[Option ID = 14161]
2. 298

[Option ID = 14162]
3. 299

[Option ID = 14163]
4. 597

[Option ID = 14164]
Correct Answer :-
e 594

[Option ID = 14161]

19) Average of ten positive numbers is X. If each number is increased by 10 %, then new average increases by:

GA eelcAD AeAT3Hl @1 3iRra X 3 afe yAw e i 10% &t giy & siredl 3, A o1 siiera 3 fvaar gferera & afig aeh :

[Question ID = 11042][Question Description = S2_qSNz_PG_GP32_Q24]
1. 12%

[Option ID = 14165]
2. 1%

[Option ID = 14166]
3. 10%

[Option ID = 14167]
4. 8%

[Option ID = 14168]

Correct Answer :-
e 12%

[Option ID = 14165]

20) Given below are two statements
Statement I: The average of first twenty multiples of 9 is 92.5.
Statement II: The average of first ten multiples of 11 is 60.5.

In light of the above statements, choose the most appropriate answer from the options given below

ofi &t Derer Ru se 3 :

@ - | 1 9 & goa i sruact ot 3iikia 92.5 3

@l - |l 1 11 & yewr g saacat o siRra 60.5 3

SR DeUsll D 3irelld 3, oflA v a1e famcul 3 A AT IWITD IaR DI RI6l DI
[Question ID = 11043][Question Description = S2_qSNz_PG_GP32_Q25]

Both Statement | and Statement Il are correct/@emt | 3iz Il clotf 28 € [Option ID = 14169]

Both Statement | and Statement Il are incorrect/aermr | 3iiz |l Gi6il steia & [Option ID = 14170]

Statement | is correct but Statement Il is incorrect/@emr | 3@t 8, fpoq @t |l st & [Option ID = 14171]
Statement | is incorrect but Statement Il is correct/emwr | ster &, o et |l 3@t & [Option ID = 14172]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemwr | iR |1 Gloll 28 & [Option ID = 14169]



21) Which of the following statements is/ are true ?

A. The terms 'true’ and 'false' apply to arguments.

B. The terms 'true’ and 'false' apply to statements.

C. The terms 'valid' and ‘invalid’ apply to arguments.

D. The terms 'cogent’ and 'non-cogent' apply to statements.

Choose the correct answer from the options given below:

forgotferfiac 3 A Dot - Blot A BT AT 3 ?

A. "J8l' iz ‘srera’ ug YRpAL Uz oIy I

B. ¥l 3iiz 'srcid’ ug @ereil U ey I 3

C. 'd¢ ik "srder ug JfepAl Uz sy Bld &

D. 'A9rp’ (Pisic) 3iR 917 - AR (olfcl - PIsic) dercil UR P 31 3

ofid fou a1 fweal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 11044][Question Description = S2_qSNz_PG_GP32_Q26]

1. Aand C only/a@ac A siie C [Option ID = 14173]
2. B and C only/@ac B siiz C [Option ID = 14174]
3. Cand D only/aaet C siiz D [Option ID = 14175]
4. Aand D only/a@aet A siz D [Option ID = 14176]

Correct Answer :-
e Aand Conly/aqet A siiz C [Option ID = 14173]

22) Given below are two statements
Statement I: Two contrary statements cannot both be false.
Statement II: Two contrary statements cannot both be true.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 ¢

el - | 3 fudla werll 3 A el srerd oISl 3l ADBa &

@eret - |l : 31 fRasia ool 3 A el A& oidl 3t AAwa 3

SWwRI Deell d relld 3, o e sre fameul 3 A 8l IR @I w61 BRI
[Question ID = 11045][Question Description = S2_qSNz_PG_GP32_Q27]

Both Statement | and Statement Il are true/esr | 3z |l Geil 2= & [Option ID = 14177]

Both Statement | and Statement Il are false/@emt | 3iiz |1 Gloil 3Rt & [Option ID = 14178]

. Statement | is true but Statement Il is false/ermel | 3 3, fboq @ere || sRIcr & [Option ID = 14179]
Statement | is false but Statement |l is true/mepol | sRI=I &, fbog el || 3=r & [Option ID = 14180]

A wWw N =

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | aiz |l Gloif i1 & [Option ID = 14177]

23) ldentify the fallacy committed in the argument
No tragic actors are happy men.
Some comedians are not happy men.

Therefore, some comedians are not tragic actors.

il 1oQ 31¢ aof & Jiu &I usarel Hifse :

B qRIC UGNl YTool AP o1dl 3l 3

T SR ABIOIAI Yool It oidl 3l 3

3: T R MG I Jifderar oidl &

[Question ID = 11046][Question Description = S2_qSNz_PG_GP32_Q28]

Fallacy of Undistributed Middle/srema &g axw [Option ID = 14181]
Fallacy of Illicit Major/ e 2er giw [Option ID = 14182]

Fallacy of Exclusive Premises/cmadd smerzaraer giw [Option ID = 14183]
Existential fallacy/siaca ara [Option ID = 14184]

A W N -

Correct Answer :-



e Fallacy of Undistributed Middle/srera 3q giu [Option ID = 14181]

24) Identify the correct sequence of Inference from begining to end, according to the Nyaya system.
A. Udaharana

B. Hetu

C. Pratijna

D. Nigamana

E. Upanaya

Choose the correct answer from the options given below

SIRIGOl6T @ 3elAR YRH A 3id D 3ioldlel D Al B bl usare Hifsie :

A. scrzeun

B. 3q

C. yferst

D. fopEme

E. suorx

ofid o s1u fesedl & A A8 IR BT wRI6l HIRIU :

[Question ID = 11047][Question Description = S2_qSNz_PG_GP32_Q29]

C, A, B, E, D [Option ID = 14185]
B, A, D, C, E [Option ID = 14186]
B, A, C, D, E [Option ID = 14187]
C, B, A, E, D [Option ID = 14188]

y Yy

A W N -

y Dy A,

Correct Answer :-
e C, A, B, E, D[Option ID = 14185]

25) Given below are two statements
Statement I: In the Nyaya system, inference is made from the particular to the particular through the Universal.
Statement II: In the Nyaya system, inference is made from the Universal to the Universal through the particular.

In light of the above statements, choose the most appropriate answer from the options given below

off< <f werer Ry a1 3 :

el - | : sarr gofol 3 AwIeA (Fforazicn) @ arezEr A 9y A AN 1 srojerer = Sirer 3

@l - || : A gofel 3 fardly @ FArEREI A AEAGA (Yforarien) A AwIGA (Yforazicr) @I st fop=n Sirer 3
SR el d 3irclld 3, il fu sre fameul 3 A 7B IR @I w6l BRI

[Question ID = 11048][Question Description = S2_qSNz_PG_GP32_Q30]

Both Statement | and Statement Il are correct/ermr | 3z |l loif 3 8 [Option ID = 14189]

Both Statement | and Statement Il are incorrect/aermer | 3iiz |l Siail stete & [Option ID = 14190]

Statement | is correct but Statement Il is incorrect/emr | 3t 8, fpoq ®eret |l sieta & [Option ID = 14191]
Statement | is incorrect but Statement Il is correct/@erwt | s1eia 3, fdpoq @erwet |1 3t & [Option ID = 14192]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/@emt | 3z |l cloif 28 & [Option ID = 14189]

26) A device driver is

arsi gEae 8 -

[Question ID = 11049][Question Description = S2_qSNz_PG_GP32_Q31]

A port that connects a device and a system/uve ié 8 St f¥arsa1 sl RBrear ot Sitsar & [Option ID = 14193]

A software that performs disk compression/uv® 2diucd=R & it 3@ (Paj9rwet) dise & [Option ID = 14194]

A software that performs disk defragmentation/ue® 3ifucRi 8 Sit f33@ - Stgsuicadsa & [Option ID = 14195]

A software that communicates with the operating system and translates data into a format understood by the device/v® 3dfucdrr 3 i sifudfdsr Brea &
ATl AFYUT DAl & 31 SIel Dl [$AISA GRI AL 318 Widie 3 udvrd wear & [Option ID = 14196]

A w N =

Correct Answer :-
e A port that connects a device and a system/uvw uid 2 Sit f¥arsa 3iR Brea ol sisar 8 [Option ID = 14193]

27) What is Anti-spyware software?



Gl TurddRR AfwcdR o= 3 ?

[Question ID = 11050][Question Description = S2_qSNz_PG_GP32_Q32]

1. Checks files before they are loaded on a computer/®w[c2 w2 358 cils e Sl @ gd wisel @I dd o & [Option ID = 14197]

2. Manages the data traffic/s ster &ftoep @1 ysitior w2ar & [Option ID = 14198]

3. It detects and removes programs installed illegally on a user's computer system/s Qiicbl @ dwIc2 Bred w2 sider %u A Jzenfid Qefeil Pl udl oI 3 iR
308 &er aar 3 [Option ID = 14199]

4. Makes the files non-readable /s wiscil @1 smuooftir goerrar & [Option ID = 14200]

Correct Answer :-
® Checks files before they are loaded on a computer/@wiez w2 358 s U Siiol D yd Bisel ®l Ab w2 & [Option ID = 14197]

28) Given below are two statements regarding the address bus in a computer system
Statement I: Address bus carries signals relating to addresses between the processor and memory
Statement Il: It is bi-directional

In light of the above statements, choose the correct answer from the options given below

orIc? RBrca d oA a1 @ Fder i ofid Al weror fGu a1e 3 :

ool - | o3 a1 QR 3z A & dia o A AdfRI 2ddl B ad Aar 3
e - || : us fxiger (arssIareia) siar &

SWRITS DUoil B IIclldD 3, ofi<l U s1u frapeul 3 A AST IR DI ol DHIfTT
[Question ID = 11051][Question Description = S2_qSNz_PG_GP32_Q33]

1. Both Statement | and Statement Il are true/@emw | aiiz || Sleil A & [Option ID = 14201]

2. Both Statement | and Statement Il are false/@erwt | 8iiz |l Gleil sRicr & [Option ID = 14202]

3. Statement | is true but Statement Il is false/@emwr | 31 8, fdpoqg weret || srir 8 [Option ID = 14203]
4. Statement | is false but Statement Il is true/meor | 3rRIcI 8, fbog @eret || 3x & [Option ID = 14204]

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | siz |l Greif 31 & [Option ID = 14201]

29) Which of the following statements about Anti-virus software are correct?
A. Problem files/programs are quarantined and can be automatically removed
B. Check all files before being loaded or run

C. Use a database to identify potential risks

D. Used for data authenticity

Choose the correct answer from the options given below:

Gl arRA ATredR o Hder i fd oo Bt v s ¥ 18l Bl BT wrRier HIfSrT :

A. Yiscrat wrscil / Qioyeil ol aardlel e Sirdr 2 sz 1 Fannfdd U A TR ST ADAT 3
B. ©iIs @201 A1 dciiol 31 gd Asil WIscll ®I Id Dol

C. Jisnfaa wari &l usdrel dal @ feIu ST ®I IURIIBT BIell

D. srer yenfdrasar & forg IuRNeT 2ol

sifd fu sru frpeul 3 3 Al IR DI RIS DIfSIU :

[Question ID = 11052][Question Description = S2_qSNz_PG_GP32_Q34]

1. B, C and D only/aae B, C siiz D [Option ID = 14205]
2. A, B and C only/dbact A, B iz C [Option ID = 14206]
3. A, Cand D only/dsaet A, C sfiz D [Option ID = 14207]
4. A, B and D only/dsaet A, B siiz D [Option ID = 14208]

Correct Answer :-
e B, C and D only/aaer B, C siiz D [Option ID = 14205]

30) Match List | with List I

List | List Il

ICT Applications Example

A. Measurement applications I. Simulating car crashes
B. Control applications Il. River pollution

C. Modelling applications Ill. Automatic oven

D. Expert systems IV. Medical diagnosis

Choose the correct answer from the options given below:



et -1 Bt 3l -1l A AR Hife

Rt -1 2t -1

(31 21 & sreyRIeT) (3c18301)

A. dIUGT 3foIgIeT |. ®R gHeolsll oI 3refd0T
B. forRicuI srorgRIIeT 1. 51ét @1 yguur

C. sifsfeisT sreryRIeT Ill. zaenfera gcar

D. waaud Rrrea IV. fifdoeafi=r foreror

offa fou o1 frpeul 3 3 A IR gforw ¢
[Question ID = 11053][Question Description = S2_qSNz_PG_GP32_Q35]

<1V, B-1,C-1l, D - lll [Option ID = 14209]
<1, B-1I, C- 1V, D - lll [Option ID = 14210]
-1, B-1Il, C-1V, D - | [Option ID = 14211]
<1, B-1II, C-1,D- IV [Option ID = 14212]

Sl
> > > >

Correct Answer :-
e A-IV,B-1,C-Il,D-Ill [Option ID = 14209]

31) Convention on Biodiversity was signed during

Sia fafderar s8R uz fbads Sierer sxaigr fdven srm e ?

[Question ID = 11054][Question Description = S2_qSNz_PG_GP32_Q36]

1. Montreal Protocol, 1987 /difeskict Qiciasict, 1987 [Option ID = 14213]

2. Earth Summit at Rio de Janeiro, 1992/f%1 & Seif¥RN 3 gedt forae Jwdctor, 1992 [Option ID = 14214]

3. Kyoto Protocol, 1997 /a=ilct gickmrer, 1997 [Option ID = 14215]

4. Human Environment Conference, Stockholm, 1972 /&l vorarRenic ¥<imaer, 1972 [Option ID = 14216]

Correct Answer :-
® Montreal Protocol, 1987 /diicSkret gictaster, 1987 [Option ID = 14213]

32) Given below are two statements
Statement I: Aerobic digestion of sewage sludge requires lots of energy
Statement Il: Aerobic digestion of sewage sludge produces huge amount of methane

In light of the above statements, choose the correct answer from the options given below

ofid &1 erer Ru sme 3 :

@l - | Sicrerel @& arIdRI sraeiyul & foru sicfire Seif &t smagacar aidt 3
@l - |l ;' Siciie & arrdiRn sraonyur A sicifers argr d M Uer axar 3

SWwRI el d el 3, o e sre fameul 3 A 8l IR @I w6t HIRdIL ©
[Question ID = 11055][Question Description = S2_qSNz_PG_GP32_Q37]

Both Statement | and Statement Il are true/emr | siiz |l Gleil 21 & [Option ID = 14217]

Both Statement | and Statement Il are false/@emt | 3iiz |1 Gloil 3Rt & [Option ID = 14218]
Statement | is true but Statement Il is false/@er1 | 31 8, fboq @eret || sRIcr & [Option ID = 14219]
Statement | is false but Statement |l is true/mepol | srRI=I &, fbog el || =x & [Option ID = 14220]

A wWwN =

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | sl |l Gleil 21 & [Option ID = 14217]

33) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Ground level concentration of ozone decreases at night
Reason R : Ultravoilet radiation photolyses the ozone into other components

In light of the above statements, choose the correct answer from the options given below

il 3l erel fRu s1e 3@ uep sifdraperst (Assertion A) @ »u 3 iz ¢RI 3@ PRYT (Reason R) & U 3 :
sif3rperat (A) @ 36l DI Sl IAR UR ADoguI Ad I Tc Sl 3

@R (R) : uRIdsTofl fafésur 3iisiloer @1 3io<r Trcdl 3 YabI9r - 3IUECel B3l 3

SURID PBecil @ 3Iciid H, ofid fou faascal 3 A Jd) 3az @1 wRIol Hifsie -

[Question ID = 11056][Question Description = S2_qSNz_PG_GP32_Q38]



Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 38t 3 3l (R), (A) &t & =mren & [Option ID = 14221]

Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) gl 2@t & weeq (R), (A) 6t 3 =me=n o1&t & [Option ID = 14222]
A is true but R is false/(A) 3@t 8 woqg (R) @t aél & [Option ID = 14223]

A is false but R is true/(A) 3t odt @ uwssq (R) 3t & [Option ID = 14224]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 3t & 3l (R), (A) &t 38 == 8 [Option ID = 14221]

34) Targets of Goal 7 of the Millenium Development Goals (MDG) are
A. Control global warming

B. Universal access to modern energy

C. Increase global percentage of renewable energy

D. Mitigating air pollution

E. Double the improvement in energy efficiency

Choose the correct answer from the options given below:

JIsIics faPRI cg (WiShsh) daga 7 daga s -

A. dffa® aragly o1 foriqur

B. sngfsrm Foif as a9 & uga

C. ordiovita it & dfam yfereraar 3 gl wen

D. arg yguuI @l ®H Bl

E. o1l giaadn @1 SBfell w6l

ofid o s1u fwedl & A A8} IR BT wRI6l BT :

[Question ID = 11057][Question Description = S2_qSNz_PG_GP32_Q39]

A, B, C and D only/asaet A, B, C siiz D [Option ID = 14225]
B, C and D only/d@act B, C siiz D [Option ID = 14226]
B, C and E only/@qet B, C sk E [Option ID = 14227]
A, C, D and E only/@act A, C, D siiz E [Option ID = 14228]

A W N -

Correct Answer :-
e A, B, Cand D only/dact A, B, C 3liz D [Option ID = 14225]

35) 'Solar water still' is a device to

AR are: B¥eaa’ o= 3 :

[Question ID = 11058][Question Description = S2_qSNz_PG_GP32_Q40]
1. Pump water using solar energy/3ii 3sif @I 3u=leT I 38 Siel 9Rul @ fere @ [Option ID = 14229]
2. Convert saline water to potable water using solar energy/3i2 3sif @I 3URIST D 88 CIAURIKD Sic Pl Wl Slel 3 URUI @2l @I =0e] [Option ID = 14230]
3. Heat water using solar energy/3iiz 3if &1 3wRisT BT g UGt @I spf B2et d fere g u@q [Option ID = 14231]
4. Generate electricity using solar energy/3iiz 3l @I 3uRlI ® g8 fSsiclt da1 w2l @1 i [Option ID = 14232]

Correct Answer :-
e Pump water using solar energy/=ilz 3sif @I JwRIEI BT gL Sicl RV D ferw =g [Option ID = 14229]

36) As per NEP-2020, the responsibility to develop Adult Educator Framework has been given to which one of the following
organisations?

of$ forer ofifer 2020 @ 3R Yl forem wian frapR1a wol @1 ciRRica forgstfeilRaa & A fop=1 o0l @I 1 oRI 3 -

[Question ID = 11059][Question Description = S2_qSNz_PG_GP32_Q41]
MHRD /@ war a2 <t [Option ID = 14233]

NCTE /wot it ¢t § [Option ID = 14234]

NIEPA /ot arté € t w [Option ID = 14235]

NCERT /wet 3ft § a2 ¢t [Option ID = 14236]

AW N =

Correct Answer :-
® MHRD/wi va 3R st [Option ID = 14233]

37) Which one of the following led to the formulation of 10+2+3 system of education?

forrarferRaa 3 A fopa1d srRIR 10 + 2 + 3 forgmyurrell dRIR &6t 3 -
[Question ID = 11060][Question Description = S2_qSNz_PG_GP32_Q42]



Macaulay's Minute/dwrel fiifeica [Option ID = 14237]
Hunter Commission/@c2 smeiet [Option ID = 14238]
Elphinstone report/ueiftbzcor fuld [Option ID = 14239]
Wood's despatch/gg1 f33da [Option ID = 14240]

A W N -

Correct Answer :-
e Macaulay's Minute/doret fifoicr [Option ID = 14237]

38) ERIC is a unit in which one of the following organisations?

forgotferiRaea 3 21 fop=1 2HsTo0 3 § 3R 33 3l (vfep) v s1s 8 -

[Question ID = 11061][Question Description = S2_qSNz_PG_GP32_Q43]
1. NCTE/wot 2t & § [Option ID = 14241]

2. NCERT/wor 2t § ame & [Option ID = 14242]

3. NIEPA/uot ai$ § dt w [Option ID = 14243]

4. NRF/uer am uw [Option ID = 14244]

Correct Answer :-
® NCTE/uat it ¢t § [Option ID = 14241]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: To make it easier for government as well as non-government philanthropic organisations to build
schools regulations on inputs should be limited to certain areas only.

Reason R: Government should provide effective, enabling and sufficient infrastructure so that all schools have access to
safe and engaging school education.

In light of the above statements, choose the most appropriate answer from the options given below

il €1 ool feu aw 3 1 uop sifiraserat (Assertion A) @ wu 3 3R gIRI 3AD BRUT (Reason R) & »u 3 :

siffrperet (A) @ IRPE 3R 317 ADE WRIudE FHerseil d fere Fsirdl (so1yc) @ e uR fRyeneril o faformel o1 Smfur wwon o §iqi ao &
3Hifdra dron aifde

@RI (R) : IR®R @I gurrdl, reior] siik Al sarivasll yerel ol aifde aifs 1sfl Rencril @ e 3Rfda siiv i Rencril Rign Jee=n
3

SURID PBecil @ 3Iciid H, ofid fou faacal 3 A I 3az @1 Rl HIfvIe -
[Question ID = 11062][Question Description = S2_qSNz_PG_GP32_Q44]

Both A and R are correct and R is the correct explanation of A/(A) 3z (R) cleil 38t & 3z (R), (A) &t 3@ wmen 8 [Option ID = 14245]

Both A and R are correct but R is NOT the correct explanation of A/(A) 3fiz (R) cloll 31t & uog (R), (A) &I 38 == o8t 8 [Option ID = 14246]
A is correct but R is not correct/(A) @t 8 weog (R) 2@t ordt & [Option ID = 14247]

A is not correct but R is correct/(A) 3@t o8 8 usoq (R) @t 8 [Option ID = 14248]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 3@t & 3z (R), (A) &t 38 wmen 8 [Option ID = 14245]

40) Given below are two statements

Statement I: It is obvious that if higher education is not radically improved, our administration and technical progress, our
intellectual standards and social advance will be most seriously handicapped. This is a major recommendation of the
University Education Commission

Statement II: The University Grants Commission was established in accordance with the recommendation of the National
Education Commission

In light of the above statements, choose the most appropriate answer from the options given below

oflar of @erot feu a1w 3 ¢

Do - | 1 I8 Fute 3 b Al ITaaz g 3 sm3rcre uf¥adol ol fob ST 3, FHRI YQIRTH iR awmoildl gaIfel, R dil.gd AGID 3R
Ao fmr aifere aiftra sisl us frafdencrr fdrsm smie1 &t ygra Riwifeer 3

@Yol - || : faafdercr siolcTol IRIIST bl FeATUoII AUCCRA fO181T SIRIPT di RIBITRI @ IMolAR dI a1 oft
SWRID DUoll D 3MIclid 3, ol fGu famedl 3 A A IUYTD IR DI TRIol DI :
[Question ID = 11063][Question Description = S2_qSNz_PG_GP32_Q45]

Both Statement | and Statement Il are correct/aerm | 3iiz | cleif 3t 8 [Option ID = 14249]

Both Statement | and Statement Il are incorrect/@eror | iz 1l GYali sieia & [Option ID = 14250]

Statement | is correct but Statement Il is incorrect/emer | 3t 8, fpoq were |l sicta & [Option ID = 14251]
Statement | is incorrect but Statement Il is correct/@emt | swer &, fboq @ere |l 3t & [Option ID = 14252]

A w N =



Correct Answer :-
e Both Statement | and Statement Il are correct/@emt | 3z | cloif 28 & [Option ID = 14249]

Topic:- GP_01DEC_SH1_C

1) Read the given passage and answer the questions that follow

There is a question whether advertising induces demand for an individual company's product more or less elastic. The
evidence indicates that the advertising of brands tends to make their demands relatively inelastic for varying periods of
time. The data which support this condition are found in the relatively rigid prices of many advertised articles. That brand
advertising would have this effect is natural, for an objective of brand advertising is to build consumer preferences. Some
consumers will stick by a brand even though its price relationship with competing brands are disturbed. Clearly, the
establishment of strong brand preference has led some manufacturers to act as though these preferences made the demand
for their brands relatively inelastic. Rarely have they tested the inelasticity of their brands by raising and holding up their
prices when competitors have failed to follow similar procedures. Yet, numerous examples were found in which
manufacturers in periods of depression held their prices rigid while prices generally and the prices of some competitors
were being lowered. In all such instances price competition was found to come into play sooner or later, and either demand
shifted to sellers with lower prices or a reduction in price was forced. The quickness with which price competition comes
into play varies in different product fields. In the fields of proprietary remedies, the highly individualised nature of the
branded products and the tendency of consumers to build strong attachments to brands has given these brands an inelastic
demand over relatively long periods of time. Even in these instances, however, price competition has

eventually developed.

forgoifeiRaa srerior o1 ufeu 3iiz gusil & 3az difsie ©

oo Adaid & fop fasmue fapil duscht & Icurc i JieT Bl 3if2re KGR Tolldl 3 AT D ISR Jolldl & A1 Gliar & b gisi @1 fasmus et
J1is1l I ffdeol AIRIMGRIC B 18 USIDd dclkIGR Solldl 8 3fold fASiIUel a¥d3il Pl UMD W6 DIl DI Bloll 3A Raufer & ugr 3 Mids
2 qis fasmuel o1 W1e Yaira Fanifae & 3, aifes gis fasaet o ud 39 Iusilthl &l if2Eirerarnsil o foriivr ool 3 o U §is A
g a3, Jerftr gferuslf gist & e gea Ader fers sia 3 Fused: §is &l €6 sif2pmerar & orvl oo fafseior walsii o ¥ crasr e
TG ol UATGIAISI B PRUI IoId is I AT UMD dcllcR 3l 318 Iodlol 9IRIS 3l 3ol Jisl Pl DI TGID2 3R ATeAId FWD Joldbl el
&I St DI S/ Ioid Yferruelf el Yiigas siuolrel 3 3RTGd 3@ fibz U1 a5 AR IGIBVT UIT 31U & foferdl St @ dik 3 faforsriansii of sraeft
DIl DI AATIA RM1 SIEih ATHIGA: R BB YfeRulRiRil DI Dl wd DI 315 07 18l Sersvll d Iea yferrueri o yfdrmr ¢ - Jd= i siiz ar
dl ®d Jc 3ol arcl fa@B Arsiicl 3R AdT Febl AT DIl 3 Dl Bl 315 fafdiost Icurcot giql o e yierruell b yfdrm 3 il 3 siaR siar &
Farfica 3url & giql 3, Fids Scurcl &l srafers fadrdiayda yamfe siiz gist & yfer sicaf?re smadur faRa wwar & Susirepisii 6 ygfa @
DRUI JUgRd ciddl srafer 3 sol gisl bl Az dellagr 3 aenft, sof 3c1svil & it sfoddiorcal Fea yfaruer adl 3

The demand inelasticity of articles in terms of non-varying prices is due to

ol gctol drel dlardl @ e 3 arqsil HI AcikeR AidT D TRIT PRI 3 -

[Question ID = 11064][Question Description = S2_qSNz_PG_GP32_Q46]
1. Consumer ignorance/3usiicp1 &t smeifdrsiar [Option ID = 14253]

2. Varying time factor/qgera wr 2ideft e [Option ID = 14254]

3. Differences in products/3curc 3 faeoerar [Option ID = 14255]

4. Advertising of branded products/qiSs 3curei @ fasmuet [Option ID = 14256]

Correct Answer :-
e Consumer ignorance/3usiipI i srefdrsiar [Option ID = 14253]

2) Read the given passage and answer the questions that follow

There is a question whether advertising induces demand for an individual company's product more or less elastic. The
evidence indicates that the advertising of brands tends to make their demands relatively inelastic for varying periods of
time. The data which support this condition are found in the relatively rigid prices of many advertised articles. That brand
advertising would have this effect is natural, for an objective of brand advertising is to build consumer preferences. Some
consumers will stick by a brand even though its price relationship with competing brands are disturbed. Clearly, the
establishment of strong brand preference has led some manufacturers to act as though these preferences made the demand
for their brands relatively inelastic. Rarely have they tested the inelasticity of their brands by raising and holding up their
prices when competitors have failed to follow similar procedures. Yet, numerous examples were found in which
manufacturers in periods of depression held their prices rigid while prices generally and the prices of some competitors
were being lowered. In all such instances price competition was found to come into play sooner or later, and either demand
shifted to sellers with lower prices or a reduction in price was forced. The quickness with which price competition comes
into play varies in different product fields. In the fields of proprietary remedies, the highly individualised nature of the
branded products and the tendency of consumers to build strong attachments to brands has given these brands an inelastic
demand over relatively long periods of time. Even in these instances, however, price competition has

eventually developed.



forgotferRae sterior ol ufeu iz gooil @ sar S :

U Hdrd 3 b farsimuet et wusht @ Icurg b JieT DI 3If2ID ARIGR Folldl 3 AT BH AKIGR JoIldl & AT GoIidI & b FisI o1 st Jerdbt
Jiell I fafdioot IeRIGaRIc @ fére signad JellkcR Jolldl 3 3fold farsidet avdaii &bl UgHdDd e bladl o1 Bloil 331 Raafer @ uer 3 siios
2 gis fasmueil o Js gara Faninfae 3 3, =if gis e o1 ud 329 Susile! & sif2Emerdnsil ol oIl we 3 o SURDI §is A
Rads & 3, =t gferuell gisi @ A1 e Ader [P S & Tused: Jis &l €6 f2REIeldl @ ®RUI |8 fAforivr wdafsil of U1 *IasR fisr
TGl Sol TRPIIGIATSIl B PRUI IoId ISl I FHidT HUSIDA JcllacR 8l 318 Jeslol 9IRIG 3l 3ol Fisl bl DI TGID2 31 ALATIA JWADR Jolbl il
&l siie bt s Jord gferruelt et gfipe sraetiol 3 RIbe 8 52 ¥ dgd AR IS8T Ure 3¢ 3 rerd 3idt & Sk 3 faforriarsii of srueft
blardl I rerad 1 S[afs ARIRIA: 3R B8 gferulfRil & BRI wa &I 58 V21 3fl ersvll 3 e gferruert & yfdrept 32 - AR A 8l =1
dl D e ol aral fa@ arsiidl 31 a1 gebl A1 Hlordl # oeiedl &l o fafdroor Scurcot &gl A Jer yferuell & 1Bt 3 dsll 3 siar diar 3
aifdca uril @ §iql A, Fiss scurcl &l srafern fadrdiad ymfe siiz gisi @ yfer sicafére sradur famRia ool & susipisii o ygfa @
PRUT IUSID il [af?r 3 ol §isi Dl AT JcikIGR & denfl, 3ol 3crswll 3 sl sfedadierdl Jca gferuert a6t 3

Why do some manufacturers make their brands of products demand inelastic ?

It is because of

oo fafsrfvremdl sraa Scurcl & gist & JisT B IcilacR Tl ol 3 ?

[Question ID = 11065][Question Description = S2_qSNz_PG_GP32_Q47]
1. Holding price line/djc=1 bt 2fterr 31 ol gome 3xal @ fere [Option ID = 14257]
2. Market trend/ssiR &t ygfer [Option ID = 14258]
3. Strong consumer preference/3usircpr &t &g siféemera [Option ID = 14259]
4. Competitors increasing the priceline/yferufeRil grRr =1 $i Mmx d6R! siet @ drur [Option ID = 14260]

Correct Answer :-
e Holding price line/sca &t 2fiam a1 &l golte 3ol @ e [Option ID = 14257]

3) Read the given passage and answer the questions that follow

There is a question whether advertising induces demand for an individual company's product more or less elastic. The
evidence indicates that the advertising of brands tends to make their demands relatively inelastic for varying periods of
time. The data which support this condition are found in the relatively rigid prices of many advertised articles. That brand
advertising would have this effect is natural, for an objective of brand advertising is to build consumer preferences. Some
consumers will stick by a brand even though its price relationship with competing brands are disturbed. Clearly, the
establishment of strong brand preference has led some manufacturers to act as though these preferences made the demand
for their brands relatively inelastic. Rarely have they tested the inelasticity of their brands by raising and holding up their
prices when competitors have failed to follow similar procedures. Yet, numerous examples were found in which
manufacturers in periods of depression held their prices rigid while prices generally and the prices of some competitors
were being lowered. In all such instances price competition was found to come into play sooner or later, and either demand
shifted to sellers with lower prices or a reduction in price was forced. The quickness with which price competition comes
into play varies in different product fields. In the fields of proprietary remedies, the highly individualised nature of the
branded products and the tendency of consumers to build strong attachments to brands has given these brands an inelastic
demand over relatively long periods of time. Even in these instances, however, price competition has

eventually developed.

forgotferRae sterior o ufeu iz gooil @ sar S :

U Hdrd 3 b fasiuot et wucht @ Icurg b et B 3If2ID IR S6lldl 3 AT BH AKIGR JoIldl & AT oIl & b ISt &1 st Jerdbt
o1l I fafdioot IeRIGaRIC @ fére gD d JellkICR Jolldl 3 3ol farsidet avdaii &bl USIDd 36 bladl oI Bloll 33 Raafer @ uer 3 siios
2 gis fasmuel o1 us Yaira Fanpnfae & 3, aeiies gis fasmuet of ve 3Z9a Susiiept &l sif2rirerarnsil o fomeifor won 3 ©o Susiior gis A
Rads & 3, =t gferruell gisi @ Ar1er e Ader KPS S & Tusea: Jis DI €6 f2Eieldr @ ®RuI | faforiur awdfsil of BT =IdasR fasr
TGl Sol TRBIGIATSIl B PRUI IoId ISl I HidT AU JcllGR 8l 31 Joslol 9IRIG 3l 3ol Fisl bl DI TGID2 31 ALATIA RWADR Jolbl il
&bl Siie Dt S ot gferruelf et gfpe sraetiol 3 sRIbe 8 {52 ¥ agd AR IS8T Ure 3¢ 3 frerd 3iét & Sk 3 fafofarsii of sruoft
blardl I rerad 1 Safs ARIRIA: 3R B8 gferulRRil & BRI wa &I 318 V1 3fl Sersvll 3 e gferruert &I yfdrept 32 - AR Al 8k a1
Al @a FcA ol ardl faaarsiicht il st bl &1 Hlardl 3 weldl &l o fafdioor Scurcet &gl 3 Fca yfereuelf & yfdrest 3 dsht 3 siae ar 3
aifdca uril @ §iql A, Fiss scurcl &l srcafern fadrdiad ymfe siiz gisi @ yfer sicafére sradur famRia ool & susiepisii o ygfa @
DRUT IUSIDd ciedl [af?l 3 ol §isi Dl AT JeiRIGR & deNiU, 3ol 3crawll d 31l Sfeadierdl e gferuer a6l 3

What was the post-depression development as regards product pricing ?
ICUIG ol B Ade I St D drg o ulvaded o= & ?

[Question ID = 11066][Question Description = S2_qSNz_PG_GP32_Q48]

1. Stabilisation of prices/dc=ii @1 RBerlmzur [Option ID = 14261]

2. Price competition, resulting in reduction/#c=1 yferuai @ orur #c=1 4 Briac [Option ID = 14262]
3. Shift in demand to consumers/3usirep1aii <bt 30 st 3f ufsacier [Option ID = 14263]

4. Increased market for branded products/giSs 3ruict @ e aeIR ¥ w@ist [Option ID = 14264]



Correct Answer :-
e Stabilisation of prices/apeil @1 Rertazur [Option ID = 14261]

4) Read the given passage and answer the questions that follow

There is a question whether advertising induces demand for an individual company's product more or less elastic. The
evidence indicates that the advertising of brands tends to make their demands relatively inelastic for varying periods of
time. The data which support this condition are found in the relatively rigid prices of many advertised articles. That brand
advertising would have this effect is natural, for an objective of brand advertising is to build consumer preferences. Some
consumers will stick by a brand even though its price relationship with competing brands are disturbed. Clearly, the
establishment of strong brand preference has led some manufacturers to act as though these preferences made the demand
for their brands relatively inelastic. Rarely have they tested the inelasticity of their brands by raising and holding up their
prices when competitors have failed to follow similar procedures. Yet, numerous examples were found in which
manufacturers in periods of depression held their prices rigid while prices generally and the prices of some competitors
were being lowered. In all such instances price competition was found to come into play sooner or later, and either demand
shifted to sellers with lower prices or a reduction in price was forced. The quickness with which price competition comes
into play varies in different product fields. In the fields of proprietary remedies, the highly individualised nature of the
branded products and the tendency of consumers to build strong attachments to brands has given these brands an inelastic
demand over relatively long periods of time. Even in these instances, however, price competition has

eventually developed.

forgoifciRaa srerior o1 ufeu 3iiz gosil & 3az difsie ©

U Adrd & & fasimue it wuett & Icurg & AisT @I 31f2rd ISR J6IIdr 3 AT B AlIGR Jolldl & A18A oIfdr & b §isi @1 fasimust Jordbt
J1iotl b fAfdiool FRIGARIC & 1T 3MIgNad JCRICR Jolldl 3 3fold fasiuel arqg3il bl UeirDd WG DIIdl oI slell 37 Rafer & uset 3 sfws
2 qis forsmuel @1 We Yaira Fanifae & 3, aifes gis fasmaet o ue 39 Iusilepl &l sif2REierarnsil o forilvr ol 3 o U §is A
frads aa 3, Jerft gferuslf gist & e gea Ader fers Sia 3 Fused: §is &l €6 if2pmerar & orvl oo fafemfior wafsii of W1 caasr e
TGN 3ol TUATGIAISII B PRUI Ioid isl bl AT UMD dcllIGRR 3l 318 Iodlol 9IRIS &l 3ol Jisl Pl DI TGID2 AR TeAad IWD Joldbl el
&I St DI S/ Ioid Yferruelt 61 Yiipas siuolrel 3 3R1Gd 3@ fibz U1 d5d AR IGIBVT UIT 31U & foferdl 36t @ gik 3 fafersriansii of srueft
DAl DI T }E1 SIafh AAGA: R B YferrufRiRil Bl Hlrd wa bl a1 07 1l Sersvll d Fea yferruert o yfdror ¢ - Adz i siiz ar
dl ®d Jc 3ol drcl fa@B Arsiicl 3R AT Febl AT DAl A @il Bl 315 fafdiost Icurcot giql o e Ylerruell b yfdrnt 3 il I sicR glar 3
Farfica 3url & giqi 3, FiSs Scurcl &l srafers fadrdiayda yamfe siiz gist & yfer sicaf?re st R oo & susirpisit 6 ygfa o
DRUI UgaRd ciddl srafer i sol gisi bl Ao dcllagr 3 aenfl, sof 3c1sil & it sfoadiorcal Fea yfaruer adl 3

Strong consumer attachment for branded products eventually led to

oadPcdl iss IcUIGl @ Yfel SUpI3il @ 31fra mapHur o1 ufsuimet o= aidar 3 ?

[Question ID = 11067][Question Description = S2_qSNz_PG_GP32_Q49]
Lasting demand inelasticity/s1isr T siférs WRI a@ Jeilas alen [Option ID = 14265]
Uniform pricing/wamiel giceret [Option ID = 14266]

Cartelisation of manufacturers/ffomfasii @r sosits [Option ID = 14267]

Branded products falling in line/qiSs 3urcl &1 odb - G @I 3RRUI dl [Option ID = 14268]

AN wnN -

Correct Answer :-
e |asting demand inelasticity /a1 @1 3ifér IWRI dd Jeilas alen [Option ID = 14265]

5) Read the given passage and answer the questions that follow

There is a question whether advertising induces demand for an individual company's product more or less elastic. The
evidence indicates that the advertising of brands tends to make their demands relatively inelastic for varying periods of
time. The data which support this condition are found in the relatively rigid prices of many advertised articles. That brand
advertising would have this effect is natural, for an objective of brand advertising is to build consumer preferences. Some
consumers will stick by a brand even though its price relationship with competing brands are disturbed. Clearly, the
establishment of strong brand preference has led some manufacturers to act as though these preferences made the demand
for their brands relatively inelastic. Rarely have they tested the inelasticity of their brands by raising and holding up their
prices when competitors have failed to follow similar procedures. Yet, numerous examples were found in which
manufacturers in periods of depression held their prices rigid while prices generally and the prices of some competitors
were being lowered. In all such instances price competition was found to come into play sooner or later, and either demand
shifted to sellers with lower prices or a reduction in price was forced. The quickness with which price competition comes
into play varies in different product fields. In the fields of proprietary remedies, the highly individualised nature of the
branded products and the tendency of consumers to build strong attachments to brands has given these brands an inelastic
demand over relatively long periods of time. Even in these instances, however, price competition has

eventually developed.
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[Question ID = 11068][Question Description = S2_qSNz_PG_GP32_Q50]

Price competition and branded products/dsca yferueff siiz giss 3curg [Option ID = 14269]

Impact of advertising on product pricing/3curci @ eI forerfaur w2 farsmuet @1 yaira [Option ID = 14270]

Proprietory remedies for branded articles/qiSs azqgaii @ fere Faifdtea 3urr [Option ID = 14271]

Promotion of branded products in the sellers’ market/fa@amsiiad> aeiR # giss 3curci o1 Aatfer [Option ID = 14272]
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Correct Answer :-
® Price competition and branded products/sc yferueff siiz giss 3curg [Option ID = 14269]



